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CHAPTER 10
LIABILITIES

CHAPTER LEARNING OBJECTIVES

1.
Explain a current liability, and identify the major types of current liabilities. A current liability is a debt that a company expects to pay (1) from existing current assets or through the creation of other current liabilities, and (2) within one year or the operating cycle, whichever is longer. The major types of current liabilities are notes payable, accounts payable, sales taxes payable, unearned revenues, and accrued liabilities such as taxes, salaries and wages, and interest payable.

2.
Describe the accounting for notes payable. When a promissory note is interest-bearing, the amount of assets received upon the issuance of the note is generally equal to the face value of the note. Interest expense accrues over the life of the note. At maturity, the amount paid equals to the face value of the note plus accrued interest.

3.
Explain the accounting for other current liabilities. Companies record sales taxes payable at the time the related sales occur. The company serves as a collection agent for the taxing authority. Sales taxes are not an expense to the company. Companies initially record unearned revenues in an Unearned Revenue account. As a company recognizes revenue, a transfer from unearned revenue to revenue occurs. Companies report the current maturities of long-term debt as a current liability in the statement of financial position.

4.
Explain why bonds are issued, and identify the types of bonds. Companies may sell bonds to investors to raise long-term capital. Bonds offer the following advantages over equity financing: (a) shareholder control is not affected. (b) tax savings result, and (c) earnings per share may be higher. The following types of bonds may be issued: secured and unsecured, and convertible and callable bonds.

5.
Prepare the entries for the issuance of bonds and interest expense. When companies issue bonds, they debit Cash for the cash proceeds and credit Bonds Payable for the face value of the bonds. 

6.
Describe the entries when bonds are redeemed. When bondholders redeem bonds at maturity, the issuing company credits Cash and debits Bonds Payable for the face value of the bonds. When bonds are redeemed before maturity, the issuing company (a) eliminates the carrying value of the bonds at the redemption date, (b) records the cash paid, and (c) recognizes the gain or loss on redemption.

7.
Describe the accounting for long-term notes payable. Each payment consists of (1) interest on the unpaid balance of the loan and (2) a reduction of loan principal. The interest decreases each period, while the portion applied to the loan principal increases.

8.
Identify the methods for the presentation and analysis of non-current liabilities. Companies should report the nature and amount of each long-term debt in the statement of financial position or in the notes accompanying the financial statements. Shareholders and long-term creditors are interested in a company’s long-run solvency. Debt to assets and times interest earned are two ratios that provide information about debt-paying ability and long-run solvency.

a 9.
Apply the effective-interest method of amortizing bond discount and bond premium. The effective-interest method results in varying amounts of amortization and interest expense per period but a constant percentage rate of interest. IFRS requires the use of the effective-interest method.

a 10.
Apply the straight-line method of amortizing bond discount and bond premium. The straight-line method of amortization results in a constant amount of amortization and interest expense per period.

a 11.
Prepare entries for payroll and payroll taxes under U.S. law. Until employee withholding taxes are remitted to governmental taxing authorities, they are credited to appropriate liability accounts The company must also account for payroll taxes it incurs. These include social security taxes and state and federal unemployment taxes.
TRUE-FALSE STATEMENTS


1.
A current liability must be paid out of current earnings.

Ans: F, LO: 1, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


2.
Current liabilities are expected to be paid within one year or the operating cycle, whichever is longer.

Ans: T, LO: 1, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


3.
The relationship between current liabilities and current assets is important in evaluating a company's ability to pay off its long-term debt.

Ans: F, LO: 1, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


4.
A company whose current liabilities exceed its current assets may have a liquidity problem.

Ans: T, LO: 1, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


5.
A debt due within 6 months of the statement of financial position date which is expected to be paid out of cash will be classified as a current liability.

Ans: T, LO: 1, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


6.
A £2,000,000, 7%, 6-month note payable requires an interest payment of £140,000 at maturity.

Ans: F, LO: 1, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


7.
Notes payable usually require the borrower to pay interest.

Ans: T, LO: 2, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


8.
A note payable must always be paid before an account payable.

Ans: F, LO: 2, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


9.
A $30,000, 8%, 9-month note payable requires an interest payment of $1,800 at maturity.

Ans: T, LO: 2, Bloom: AP, Difficulty: Easy, Min: 1, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics


10.
With an interest-bearing note, the amount of cash received upon issuance of the note generally exceeds the note's face value.

Ans: F, LO: 2, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


11.
Interest expense on a note payable is only recorded at maturity.

Ans: F, LO: 2, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


12.
Interest expense is reported under Other income and expense in the income statement.

Ans: T, LO: 2, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


13.
Unearned revenues should be classified as Other income and expense on the income statement.

Ans: F, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA:  Reporting


14.
The higher the sales tax rate, the more profit a retailer can earn.

Ans: F, LO: 3, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


15.
Metropolitan Symphony sells 200 season tickets for $60,000 that represents a five concert season. The amount of Unearned Ticket Revenue after the second concert is $24,000.

Ans: F, LO: 3, Bloom: AP, Difficulty: Easy, Min: 1, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


16.
During the month, a company sells goods for a total of $108,000, which includes sales taxes of $8,000; therefore, the company should recognize $100,000 in Sales Revenue and $8,000 in Sales Tax Expense.

Ans: F, LO: 3, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: FSA


17.
Current maturities of long-term debt refers to the amount of interest on a note payable that must be paid in the current year.

Ans: F, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


18.
If a retailer sells goods for a total price of €600, which includes an 11% sales tax, the amount of the sales tax is €59.46.

Ans: T, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


19.
The statement of financial position classification of a liability as current or non-current is important because it may affect the evaluation of a company's liquidity.

Ans: T, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


20.
Each bondholder may vote for the board of directors in proportion to the number of bonds held.

Ans: F, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


21.
Bond interest paid by a corporation is an expense, whereas dividends paid are not an expense of the corporation.

Ans: T, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


22.
Registered bonds are bonds that are delivered to owners by U.S. registered mail service.

Ans: F, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


23.
A debenture bond is an unsecured bond which is issued against the general credit of the borrower.

Ans: T, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


24.
Neither corporate bond interest nor dividends are deductible for tax purposes.

Ans: F, LO: 4, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


25.
A 10% stock dividend is the equivalent of a $1,000 par value bond paying annual interest of 10%.

Ans: F, LO: 4, Bloom: C, Difficulty: Easy, Min: 1, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics


26.
The board of directors may authorize more bonds than are issued.

Ans: T, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: FSA


27.
The contractual interest rate is always equal to the market interest rate on the date that bonds are issued.

Ans: F, LO: 4, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


28.
If $150,000 face value bonds are issued at 103, the proceeds received will be $103,000.

Ans: F, LO: 4, Bloom: C, Difficulty: Easy, Min: 1, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics


29.
Discount on bonds is an additional cost of borrowing and should be recorded as interest expense over the life of the bonds.

Ans: T, LO: 5, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics


30.
If a corporation issued bonds at an amount less than face value, it indicates that the corporation has a weak credit rating.

Ans: F, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


31.
A corporation that issues bonds at a discount will recognize interest expense at a rate which is greater than the market interest rate.

Ans: F, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


32.
If bonds are issued at a discount, the issuing corporation will pay a principal amount less than the face amount of the bonds on the maturity date.

Ans: F, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


33.
If bonds are issued at a premium, the carrying value of the bonds will be greater than the face value of the bonds for all periods prior to the bond maturity date.

Ans: T, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


34.
If the market interest rate is greater than the contractual interest rate, bonds will sell at a discount.

Ans: T, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


35.
If $800,000, 6% bonds are issued on January 1, and pay interest annually, the amount of interest paid on the following January 1 will be $48,000.

Ans: T, LO: 5, Bloom: AP, Difficulty: Easy, Min: 1, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


36.
If bonds sell at a premium, the interest expense recognized each year will be greater than the contractual interest rate.

Ans: F, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


37.
A CHF10,000,000 bond with a quoted prices of 101 ¼ is sold for CHF10,250,000.
Ans: F, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


38.
If HK$1,800,000, 5%, bonds are issued on January 1, and pay interest annually, the amount of interest paid the following January will be HK$90,000.

Ans: T, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


39.
Bonds are reported on the statement of financial position at their carrying value.

Ans: T, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


40.
If $2,000,000 par value bonds with a carrying value of $1,990,400 are redeemed at 97, a loss on redemption will be recorded.

Ans: F, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


41.
The loss on bond redemption is the difference between the cash paid and the carrying value of the bonds.

Ans: T, LO: 6, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


42.
If $500,000 par value bonds with a carrying value of $476,000 are redeemed at 97, a loss on redemption will be recorded.

Ans: T, LO: 6, Bloom: C, Difficulty: Easy, Min: 1, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting


43.
Each payment on a mortgage note payable consists of interest on the original balance of the loan and a reduction of the loan principal.

Ans: F, LO: 7, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


44.
A long-term note that pledges title to specific property as security for a loan is known as a mortgage payable.

Ans: T, LO: 7, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


45.
The amount by which the principal of a mortgage will be reduced in the next year will be reported on the statement of financial position as a current liability.

Ans: T, LO: 7, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


46.
Non-current liabilities are reported in a separate section of the statement of financial position immediately below current liabilities.

Ans: F, LO: 7, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


47.
The times interest earned is computed by dividing net income by interest expense.

Ans: F, LO: 8, Bloom: K, Difficulty: Easy, Min: 1, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


a 48.
The debt to assets ratio is computed by dividing non-current liabilities by total assets.

Ans: F, LO: 8, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


a 49.
The effective-interest method of amortization results in varying amounts of amortization and interest expense per period but a constant interest rate.

Ans: T, LO: 9, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Industry/Sector, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


a 50.
Bond premiums must be amortized using the effective-interest method.

Ans: T, LO: 9, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Industry/Sector, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


a 51.
Bond discounts must be amortized using the straight-line method.

Ans: F, LO: 9, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Industry/Sector, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


a 52.
Payroll liabilities are reported on the statement of financial position as current liabilities.

Ans: T, LO: 11, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Industry/Sector, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


a 53.
Every employer incurs liabilities relating to employees' salaries and wages.

Ans: T, LO: 11, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Industry/Sector, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


54.
A debt that is expected to be paid within one year through the creation of long-term debt is a current liability.
Ans: F, LO: 1, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


55.
Notes payable usually are issued to meet long-term financing needs.

Ans: F, LO: 2, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


56.
Current maturities of long-term debt are often identified as long-term debt due within one year on the statement of financial position.
Ans: T, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


57.
Bonds that mature at a single specified future date are called term bonds.

Ans: T, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


58.
The terms of the bond issue are set forth in a formal legal document called a bond indenture.
Ans: T, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


59.
The carrying value of bonds at maturity should be equal to the face value of the bonds.
Ans: T, LO: 5, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


60.
Non-current liabilities are reported in a separate section of the statement of financial position immediately before current liabilities.
Ans: T, LO: 8, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting
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MULTIPLE CHOICE QUESTIONS


61.
All of the following are reported as current liabilities except
a.
accounts payable.

b.
bonds payable.

c.
notes payable.

d.
unearned revenues.

Ans: B, LO: 1, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


62.
Most companies pay current liabilities

a.
out of current assets.

b.
by issuing interest-bearing notes payable.

c.
by issuing stock.

d.
by creating long-term liabilities.

Ans: A, LO: 1, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


63.
A current liability is a debt that can reasonably be expected to be paid

a.
within one year.

b.
between 6 months and 18 months.

c.
out of currently recognized revenues.

d.
out of cash currently on hand.

Ans: A, LO: 1, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


64.
Liabilities are classified on the statement of financial position as current or

a.
deferred.

b.
unearned.

c.
non-current.

d.
accrued.

Ans: C, LO: 1, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


65.
The relationship of current assets to current liabilities is used in evaluating a company's

a.
operating cycle.

b.
revenue-producing ability.

c.
short-term debt paying ability.

d.
long-range solvency.

Ans: C, LO: 1, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


66.
Which of the following is usually not an accrued liability?

a.
Interest payable

b.
Wages payable

c.
Taxes payable

d.
Notes payable

Ans: D, LO: 1, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


67.
In most companies, current liabilities are paid within

a.
one year through the creation of other current liabilities.

b.
the operating cycle through the creation of other current liabilities.

c.
one year out of current assets.

d.
the operating cycle out of current assets.

Ans: C, LO: 1, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


68.
The entry to record the issuance of an interest-bearing note credits Notes Payable for the note's

a.
maturity value.

b.
market value.

c.
face value.

d.
cash realizable value.

Ans: C, LO: 2, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: None, IMA: FSA


69.
With an interest-bearing note, the amount of assets received upon issuance of the note is generally

a.
equal to the note's face value.

b.
greater than the note's face value.

c.
less than the note's face value.

d.
equal to the note's maturity value.

Ans: A, LO: 2, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: None, IMA: FSA


70.
A note payable is in the form of

a.
a contingency that is reasonably likely to occur.

b.
a written promissory note.

c.
an oral agreement.

d.
a standing agreement.

Ans: B, LO: 2, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


71.
Admire County Bank agrees to lend Givens Brick Company $800,000 on January 1. Givens Brick Company signs a $800,000, 8%, 9-month note. The entry made by Givens Brick Company on January 1 to record the proceeds and issuance of the note is

a.
Interest Expense

48,000


Cash.

752,000



Notes Payable


800,000

b.
Cash

800,000



Notes Payable


800,000

c.
Cash

800,000


Interest Expense

48,000



Notes Payable


848,000

d.
Cash

800,000


Interest Expense

48,000



Notes Payable


800,000



Interest Payable


48,000

Ans: B, LO: 2, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


72.
Admire County Bank agrees to lend Givens Brick Company $800,000 on January 1. Givens Brick Company signs a $800,000, 8%, 9-month note. What is the adjusting entry required if Givens Brick Company prepares financial statements on June 30?

a.
Interest Expense

32,000



Interest Payable


32,000

b.
Interest Expense

32,000



Cash


32,000

c.
Interest Payable

32,000



Cash


32,000

d.
Interest Payable

32,000



Interest Expense


32,000

Ans: A, LO: 2, Bloom: AN, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


73.
Admire County Bank agrees to lend Givens Brick Company $800,000 on January 1. Givens Brick Company signs a $800,000, 8%, 9-month note. What entry will Givens Brick Company make to pay off the note and interest at maturity assuming that interest has been accrued to September 30?

a.
Notes Payable

848,000



Cash


848,000

b.
Notes Payable

800,000


Interest Payable

48,000



Cash


848,000

c.
Interest Expense

48,000


Notes Payable

800,000



Cash


848,000

d.
Interest Payable

32,000


Notes Payable

800,000


Interest Expense

16,000



Cash


848,000

Ans: B, LO: 2, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


74.
As interest is accrued on an interest-bearing note, the Interest Expense account is

a.
increased; the Notes Payable account is increased.

b.
increased; the Notes Payable account is decreased.

c.
increased; the Interest Payable account is increased.

d.
decreased; the Interest Payable account is increased.

Ans: C, LO: 2, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: None, IMA: FSA


75.
When an interest-bearing note matures, the balance in the Notes Payable account is

a.
less than the total amount repaid by the borrower.

b.
the difference between the maturity value of the note and the face value of the note.

c.
equal to the total amount repaid by the borrower.

d.
greater than the total amount repaid by the borrower.

Ans: A, LO: 2, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


76.
On October 1, Steve's Carpet Service borrows €900,000 from First National Bank on a 3-month, €900,000, 8% note. What entry must Steve's Carpet Service make on December 31 before financial statements are prepared?

a.
Interest Payable

18,000



Interest Expense


18,000

b.
Interest Expense

72,000



Interest Payable


72,000

c.
Interest Expense

18,000



Interest Payable


18,000

d.
Interest Expense

18,000



Notes Payable


18,000

Ans: C, LO: 2, Bloom: AN, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


77.
On October 1, Steve's Carpet Service borrows €900,000 from First National Bank on a 3-month, €900,000, 8% note. The entry by Steve's Carpet Service to record payment of the note and accrued interest on January 1 is

a.
Notes Payable

918,000



Cash


918,000

b.
Notes Payable

900,000


Interest Payable

18,000



Cash


918,000

c.
Notes Payable

900,000


Interest Payable

72,000



Cash


972,000

d.
Notes Payable

900,000


Interest Expense

18,000



Cash


918,000

Ans: B, LO: 2, Bloom: AN, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


78.
Interest expense on an interest-bearing note is

a.
always equal to zero.

b.
accrued over the life of the note.

c.
only recorded at the time the note is issued.

d.
only recorded at maturity when the note is paid.

Ans: B, LO: 2, Bloom: AP, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


79.
On September 1, Joe's Painting Service borrows $350,000 from National Bank on a 4-month, $350,000, 6% note. What entry must Joe's Painting Service make on December 31 before financial statements are prepared?

a.
Interest Payable

7,000



Interest Expense


7,000

b.
Interest Expense

21,000



Interest Payable


21,000

c.
Interest Expense

7,000



Interest Payable


7,000

d.
Interest Expense

7,000



Notes Payable


7,000

Ans: C, LO: 2, Bloom: AN, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


80.
On September 1, Joe's Painting Service borrows $350,000 from National Bank on a 4-month, $350,000, 6% note. The entry by Joe's Painting Service to record payment of the note and accrued interest on January 1 is

a.
Notes Payable

357,000



Cash


367,000

b.
Notes Payable

350,000


Interest Payable

7,000



Cash


357,000

c.
Notes Payable

350,000


Interest Payable

21,000



Cash


371,000

d.
Notes Payable

350,000


Interest Expense

7,000



Cash


357,000

Ans: B, LO: 2, Bloom: AN, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


81.
The interest charged on a ¥250,000,000 note payable, at the rate of 8%, on a 90-day note would be

a.
¥20,000,000.

b.
¥11,110,000.

c.
¥5,000,000.

d.
¥1,666,666.

Ans: C, LO: 2, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics


82.
The interest charged on a ¥250,000,000 note payable, at the rate of 6%, on a 60-day note would be

a.
¥15,000,000.

b.
¥8,333,333.

c.
¥3,750,000.

d.
¥2,500,000.

Ans: D, LO: 2, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics


83.
The interest charged on a ¥400,000,000 note payable, at the rate of 8%, on a 3-month note would be

a.
¥32,000,000.

b.
¥6,000,000.

c.
¥8,000,000.

d.
¥5,333,333.

Ans: C, LO: 2, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics


84.
The interest charged on a ¥400,000,000 note payable, at the rate of 6%, on a 2-month note would be

a.
¥24,000,000.

b.
¥12,000,000.

c.
¥6,000,000.

d.
¥4,000,000.

Ans: D, LO: 2, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics


85.
On October 1, 2016, Pennington Company issued an €100,000, 10%, nine-month interest-bearing note. If Pennington Company is preparing financial statements at December 31, 2016, the adjusting entry for accrued interest will include a

a.
credit to Notes Payable of €2,500.

b.
debit to Interest Expense of €2,500

c.
credit to Interest Payable of €5,000.

d.
debit to Interest Expense of €3,750.

Ans: B, LO: 2, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


86.
On October 1, 2016, Pennington Company issued a €100,000, 10%, nine-month interest-bearing note. Assuming interest was accrued in June 30, 2017, the entry to record the payment of the note on July 1, 2017, will include a

a.
debit to Interest Expense of €2,500.

b.
credit to Cash of €100,000

c.
debit to Interest Payable of €7,500.

d.
debit to Notes Payable of €107,500.

Ans: C, LO: 2, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


87.
London Bank and Trust agrees to lend the Beckham Company £5,000,000 on January 1, 2017. Beckham Company signs a £5,000,000, 6%, 9-month note. 



The entry made by Beckham Company on January 1 to record the proceeds and issuance of the note is 

a.
Interest Expense

225,000


Cash


4,775,000



Notes Payable


5,000,000

b.
Cash

5,000,000



Notes Payable


5,000,000

c.
Cash


5,000,000


Interest Expense

225,000



Notes Payable


5,225,000

d.
Cash


5,000,000


Interest Expense

225,000



Notes Payable


5,000,000



Interest Payable


225,000
Ans: B, LO: 2, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


88.
London Bank and Trust agrees to lend the Beckham Company £5,000,000 on January 1, 2017. Beckham Company signs a £5,000,000, 6%, 9-month note. 



Assuming that monthly accruals are not made, what adjusting entry is required if Beckham Company prepares financial statements on June 30?

a.
Interest Expense

150,000



Interest Payable


150,000

b.
Interest Expense

150,000



Cash


150,000

c.
Interest Expense

200,000



Cash


200,000

d.
Interest Payable

200,000



Interest Expense


200,000

Ans: A, LO: 2, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


89.
London Bank and Trust agrees to lend the Beckham Company £5,000,000 on January 1, 2017. Beckham Company signs a £5,000,000, 6%, 9-month note. 



What entry will Beckham Company make to pay off the note and interest at maturity assuming that no interest has been accrued since June 30?

a.
Notes Payable

5,225,000



Cash


5,225,000

b.
Notes Payable

5,000,000


Interest Payable

225,000



Cash


5,225,000

c.
Interest Expense

225,000


Notes Payable

5,000,000



Cash


5,225,000

d.
Interest Payable

150,000


Notes Payable

5,000,000


Interest Expense

75,000



Cash


5,225,000

Ans: D, LO: 2, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


90.
Harrods Company receives £275, of which £25 is for sales tax. The journal entry to record the sale would include a 

a.
debit to Sales Taxes Payable for £25.

b.
credit to Sales Taxes Payable for £25.
c.
debit to Sales Revenue for £275.
d.
debit to Cash for £250.
Ans: B, LO: 3, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


91.
Franco Company credits its Sales Revenue account for the sales price and the sales tax collected on sales. If the sales tax rate is 9% and the balance in the Sales Revenue account amounted to €545,000, what is the amount of the sales taxes owed to the taxing authority?

a.
€53,901.

b.
€53,465.

c.
€49,050.

d.
€45,000.

Ans: D, LO: 3, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


92.
Monique's Boutique has total receipts for the month of May of €32,450 including sales taxes. If the sales tax rate is 10%, what amount of sales revenue did the boutique earn in May (rounded to the nearest €)?

a.
€35,695.

b.
€32,450.

c.
€29,500.

d.
Cannot be determined from the information given.
Ans: C, LO: 3, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


93.
Ski Quarterly typically sells subscriptions on an annual basis, and publishes four times a year in January, April, July and October. The magazine sells 90,000 subscriptions in January at CHF20 each. 



What entry is made in January to record the sale of the subscriptions? 

a.
Accounts Receivable

1,800,000



Subscription Revenue


1,800,000

b.
Cash


1,800,000


Unearned Subscription Revenue


1,800,000
c.
Accounts Receivable

1,800,000


Unearned Subscription Revenue


1,800,000
d.
Prepaid Subscriptions

1,800,000


Cash


1,800,000
Ans: B, LO: 3, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

94.
Ski Quarterly typically sells subscriptions on an annual basis, and publishes four times a year in January, April, July and October. The magazine sells 90,000 subscriptions in January at CHF20 each. 


If Ski Quarterly publishes a quarterly financial statement at March 31, the adjusting journal entry to recognize revenue will include

a.
a debit to Cash for CHF600,000.

b.
a debit to Subscription Revenue for CHF600,000
c.
a debit to Unearned Subscription Revenue for CHF450,000.

d.
a credit to Prepaid Subscriptions for CHF450,000.

Ans: C, LO: 3, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


95.
In what order are current liabilities typically listed on the statement of financial position?

a.
In order of the dates they become due.

b.
In order of increasing liquidity.

c.
In order of decreasing liquidity.

d.
Notes Payable first followed by Accounts Payable, then in order of magnitude.

Ans: D, LO: 3, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


96.
Sales taxes collected by a retailer are recorded by

a.
crediting Sales Tax Revenue.

b.
debiting Sales Tax Expense.

c.
crediting Sales Taxes Payable.

d.
debiting Sales Taxes Payable.

Ans: C, LO: 3, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: None, IMA: FSA


97.
Unearned Rent Revenue is

a.
a contra-account to Rent Revenue.

b.
a revenue account.

c.
reported as a current liability.

d.
debited when rent is received in advance.

Ans: C, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


98.
Crawford Company has total proceeds (before segregation of sales taxes) from sales of $11,130. If the sales tax is 6%, the amount to be credited to Sales Revenue is:

a.
$11,130.

b.
$10,462.

c.
$11,798.

d.
$10,500.

Ans: D, LO: 3, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


99.
Reliable Insurance Company collected a premium of $30,000 for a 1-year insurance policy on May 1. What amount should Reliable report as a current liability for Unearned Service Revenue at December 31?

a.
$0.

b.
$10,000.

c.
$20,000.

d.
$30,000.

Ans: B, LO: 3, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting


100.
A company receives $264, of which $24 is for sales tax. The journal entry to record the sale would include a

a.
debit to Sales Tax Expense for $24.

b.
credit to Sales Taxes Payable for $24.

c.
debit to Sales Revenue for $264.

d.
debit to Cash for $240.

Ans: B, LO: 3, Bloom: C, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


101.
A company receives $696, of which $56 is for sales tax. The journal entry to record the sale would include a

a
debit to Sales Tax Expense for $56.

b.
debit to Sales Taxes Payable for $56.

c.
debit to Sales Revenue for $696.

d.
debit to Cash for $696.

Ans: D, LO: 3, Bloom: C, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


102.
A retail store credited the Sales Revenue account for the sales price and the amount of sales tax on sales. If the sales tax rate is 5% and the balance in the Sales Revenue account amounted to ¥525,000,000 what is the amount of the sales taxes owed to the taxing agency?

a.
¥500,000,000
b.
¥525,000,000
c.
¥26,250,000
d.
¥25,000,000
Ans: D, LO: 3, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics

103.
On January 1, 2017, Howard Company, a calendar-year company, issued $2,000,000 of notes payable, of which $500,000 is due on January 1 for each of the next four years. The proper statement of financial position presentation on December 31, 2017, is

a.
Current Liabilities, $2,000,000.

b.
Non-current Liabilities $2,000,000.

c.
Current Liabilities, $1,000,000; Non-current Liabilities, $1,000,000.

d.
Current Liabilities, $500,000; Non-current Liabilities, $1,500,000.

Ans: D, LO: 3, Bloom: C, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting


104.
On January 1, 2017, Donahue Company, a calendar-year company, issued $1,500,000 of notes payable, of which $375,000 is due on January 1 for each of the next four years. The proper statement of financial position presentation on December 31, 2017, is

a.
Current Liabilities, $1,500,000.

b.
Non-current Liabilities $1,500,000.

c.
Current Liabilities, $375,000; Non-current Liabilities, $1,125,000.

d.
Current Liabilities, $1,125,000; Non-current Liabilities, $375,000.

Ans: C, LO: 3, Bloom: C, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting


105.
Ed’s Bookstore has collected $900 in sales taxes during April. If sales taxes must be remitted to the government monthly, what entry will Ed's Bookstore make to show the April remittance?

a.
Sales Taxes Payable

900


Cash


900
b.
Sales Tax Expense

900


Cash


900
c.
Sales Tax Expense

900


Sales Taxes Payable


900
d.
No entry required.

Ans: A, LO: 3, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


106.
Layton Company does not ring up sales taxes separately on the cash register. Total receipts for October amounted to $73,500. If the sales tax rate is 5%, what amount must be remitted to the taxing authority for October's sales taxes?

a.
$3,500

b.
$3,675
c.
$175
d.
It cannot be determined.

Ans: A, LO: 3, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics


107.
Valerie's Salon has total receipts for the month of $41,075 including sales taxes. If the sales tax rate is 6%, what are Valerie's sales for the month?

a.
$38,611
b.
$43,540
c.
$38,750

d.
It cannot be determined.

Ans: C, LO: 3, Bloom: C, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics

108.
The amount of sales tax collected by a retail store when making sales is

a.
a miscellaneous revenue for the store.

b.
a current liability.

c.
not recorded because it is a tax paid by the customer.

d.
recorded as an operating expense.

Ans: B, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


109.
A retail store credited the Sales Revenue account for the sales price and the amount of sales tax on sales. If the sales tax rate is 5% and the balance in the Sales Revenue account amounted to ¥441,000,000, what is the amount of the sales taxes owed to the taxing agency?

a.
¥420,000,000
b.
¥441,000,000
c.
¥22,050,000
d.
¥21,000,000
Ans: D, LO: 3, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

110.
The current portion of long-term debt should

a.
be paid immediately.

b.
be reclassified as a current liability.

c.
be classified as a non-current liability.

d.
not be separated from the long-term portion of debt.

Ans: B, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


111.
Sales taxes collected by a retailer are reported as

a.
contingent liabilities.

b.
revenues.

c.
expenses.

d.
current liabilities.

Ans: D, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


112.
Julie's Boutique has total receipts for the month of $41,580 including sales taxes. If the sales tax rate is 5%, what are Julie's sales for the month?

a.
$39,501
b.
$39,600
c.
$41,580
d.
It cannot be determined.

Ans: B, LO: 3, Bloom: C, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics

113.
A cash register tape shows cash sales of €4,500 and sales taxes of €270. The journal entry to record this information is

a.
Cash

4,500



Sales Revenue


4,500

b.
Cash

4,770


Sales Tax Revenue


270


Sales Revenue


4,500

c.
Cash

4,500


Sales Tax Expense

270


Sales Revenue


4,770
d.
Cash

4,770


Sales Revenue


4,500



Sales Taxes Payable


270
Ans: D, LO: 3, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


114.
Oakley Company does not ring up sales taxes separately on the cash register. Total receipts for February amounted to $79,800. If the sales tax rate is 5%, what amount must be remitted to the taxing authority for February's sales taxes?

a.
$3,990
b.
$3,800
c.
$5,298
d.
It cannot be determined.

Ans: B, LO: 3, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics

115.
Any balance in an unearned revenue account is reported as a(n)

a.
current liability.

b.
long-term debt.

c.
revenue.

d.
unearned liability.

Ans: A, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

116.
Pickett Company typically sells subscriptions on an annual basis, and publishes six times a year. The magazine sells 90,000 subscriptions in January at $18 each. What entry is made in January to record the sale of the subscriptions?

a.
Accounts Receivable

1,620,000



Subscription Revenue


1,620,000

b.
Cash


1,620,000



Unearned Subscription Revenue


1,080,000

c.
Accounts Receivable

270,000



Unearned Subscription Revenue


270,000

d.
Prepaid Subscriptions

1,620,000



Cash


1,620,000

Ans: B, LO: 3, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

117.
Hilton Company issued a four-year interest-bearing note payable for $600,000 on January 1, 2016. Each January the company is required to pay $150,000 on the note. How will this note be reported on the December 31, 2017 statement of financial position?

a.
Long-term debt, $600,000.

b.
Long-term debt, $450,000.

c.
Long-term debt, $300,000; Long-term debt due within one year, $150,000.

d.
Long-term debt, $450,000; Long-term debt due within one year, $150,000.

Ans: C, LO: 3, Bloom: C, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting


118.
The current ratio is

a.
current assets plus current liabilities.

b.
current assets minus current liabilities.

c.
current assets divided by current liabilities.

d.
current assets multiplied by current liabilities.

Ans: C, LO: 3, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


119.
Hardy Company has current assets of $180,000, current liabilities of $150,000, non-current assets of $270,000 and non-current liabilities of $135,000. Hardy Company's working capital and its current ratio are

a.
$165,000 and 1.20:1.

b.
$30,000 and 1.58:1.

c.
($30,000) and 1.20:1.

d.
$30,000 and 1.20:1.

Ans: D, LO: 3, Bloom: AP, Difficulty: Hard, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Quantitative Methods 

120.
Each of the following is correct regarding bonds except they are

a.
a form of interest-bearing notes payable.

b.
attractive to many investors.

c.
issued by corporations and governmental agencies.

d.
sold in large denominations.
Ans: d, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

121.
From the standpoint of the issuing company, a disadvantage of using bonds as a means of long-term financing is that

a.
bond interest is deductible for tax purposes.

b.
interest must be paid on a periodic basis regardless of earnings.

c.
income to shareholders may increase as a result of trading on the equity.

d.
the bondholders do not have voting rights.

Ans: b, LO: 4, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


122.
If a corporation issued ¥8,000,000,000 in bonds which pay 10% annual interest, what is the annual net cash cost of this borrowing if the income tax rate is 30%?

a.
¥8,000,000,000
b.
¥240,000,000
c.
¥800,000,000
d.
¥560,000,000
Ans: d, LO: 4, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

123.
Secured bonds are bonds that

a.
are in the possession of a bank.

b.
are registered in the name of the owner.

c.
have specific assets of the issuer pledged as collateral.

d.
have detachable interest coupons.

Ans: c, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


124.
A legal document which summarizes the rights and privileges of bondholders as well as the obligations and commitments of the issuing company is called

a.
a bond indenture.

b.
a bond debenture.

c.
trading on the equity.

d.
a term bond.

Ans: a, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


125.
Shareholders of a company may be reluctant to finance expansion through issuing more equity because

a.
leveraging with debt is always a better idea.

b.
their earnings per share may decrease.

c.
the price of the shares will automatically decrease.

d.
dividends must be paid on a periodic basis.

Ans: b, LO: 4, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


126.
Which of the following is not an advantage of issuing bonds instead of ordinary shares?

a.
Shareholder control is not affected.

b.
Earnings per share may be lower.

c.
Income to ordinary shareholders may increase.

d.
Tax savings result.

Ans: b, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


127.
Bonds that are secured by real estate are termed

a.
mortgage bonds.

b.
convertible bonds.

c.
debentures.

d.
bearer bonds.

Ans: a, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


128.
Bonds issued against the general credit of the borrower are called
a.
callable bonds.

b.
debenture bonds.

c.
mortgage bonds.

d.
a sinking fund bond.

Ans: b, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


129.
Bonds that may be exchanged for ordinary shares at the bondholder’s option are called

a.
options.

b.
stock bonds.

c.
convertible bonds.

d.
callable bonds.

Ans: c, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


130.
Bonds that are subject to retirement at a stated dollar amount prior to maturity at the option of the issuer are called

a.
callable bonds.

b.
early retirement bonds.

c.
options.

d.
debentures.

Ans: a, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


131.
Bonds that have specific assets of the issuer pledged as collateral are 
a.
secured bonds.

b.
callable bonds.

c.
convertible bonds.

d.
debenture bonds.

Ans: a, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


132.
A bond secured by specific assets set aside to redeem the bonds is called a
a.
convertible bond.

b.
sinking bond.

c.
mortgage bond.

d.
secured bond.

Ans: b, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


133.
The interest rate investors demand for loaning funds is the
a.
market interest rate.

b.
stated rate.

c.
contractural interest rate.

d.
bond interest rate.

Ans: a, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


134.
The party who has the right to exercise a call option on bonds is the

a.
investment banker.

b.
bondholder.

c.
bearer.

d.
issuer.

Ans: d, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


135.
A major disadvantage resulting from the use of bonds is that

a.
earnings per share may be lowered.

b.
interest must be paid on a periodic basis.

c.
bondholders have voting rights.

d.
taxes may increase.
Ans: b, LO: 4, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


136.
All bonds will always fall into which one of the following pairs of categories?

a.
Secured or unsecured
b.
Mortgage or sinking fund
c.
Callable or convertible
d.
Debenture or unsecured

Ans: a, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

137.
Which of the following statements concerning bonds is not a true statement?

a.
Bonds are generally sold through an investment company.

b.
The bond indenture is prepared after the bonds are printed.

c.
The bond indenture and bond certificate are separate documents.

d.
The trustee keeps records of each bondholder.

Ans: b, LO: 4, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


138.
A bond trustee does not

a.
issue the bonds.

b.
keep a record of each bondholder.

c.
hold conditional title to pledged property.

d.
maintain custody of unsold bonds.

Ans: a, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


139.
The contractual interest rate is usually stated as a(n)

a.
monthly rate.

b.
daily rate.

c.
semiannual rate.

d.
annual rate.

Ans: d, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA


140.
When authorizing bonds to be issued, the board of directors does not specify the

a.
total number of bonds authorized to be sold.

b.
contractual interest rate.

c.
selling price.

d.
total face value of the bonds.

Ans: c, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


141.
The following exhibit is for Kmart bonds.



Bonds

Close
Yield
Volume
Net Change

Kmart 8 3/8    17
100¼
8.4
35
+7/8

The contractual interest rate of the K mart bonds is

a.
greater than the market interest rate.

b.
less than the market interest rate.

c.
equal to the market interest rate.

d.
not determinable.

Ans: b, LO: 4, Bloom: C, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: Business Economics


142.
The following exhibit is for Kmart bonds.



Bonds

Close
Yield
Volume
Net Change

Kmart 8 3/8    17
100¼
8.4
35
+7/8

On the day of trading referred to above,

a.
no Kmart bonds were traded.

b.
bonds with market prices of $3,500 were traded.

c.
at closing, the selling price of the bond was higher than the previous day's price.

d.
the bond sold for $100.25

Ans: c, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

143.
A ¥1,000,000 face value bond with a quoted price of 97 is selling for

a.
¥1,000,000.

b.
¥970,000.

c.
¥907,000.

d.
¥97,000.

Ans: b, LO: 4, Bloom: AP, Difficulty: Easy, Min: 1, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


144.
A bond with a face value of ¥200,000,000 and a quoted price of 102¼ has a selling price of

a.
¥240,450,000.

b.
¥204,050,000.

c.
¥200,450,000.

d.
¥204,500,000.

Ans: d, LO: 4, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


145.
If the market interest rate is greater than the contractual interest rate, bonds will sell

a.
at a premium.

b.
at face value.

c.
at a discount.

d.
only after the stated interest rate is increased.

Ans: c, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


146.
The total cost of borrowing is increased only if the

a.
bonds were issued at a premium.

b.
bonds were issued at a discount.

c.
bonds were sold at face value.

d.
market interest rate is less than the contractual interest rate on that date.

Ans: b, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


147.
If the market interest rate is 10%, a $10,000, 12%, 10-year bond, that pays interest annually would sell at an amount

a.
less than face value.

b.
equal to face value.

c.
greater than face value.

d.
that cannot be determined.

Ans: c, LO: 5, Bloom: C, Difficulty: Easy, Min: 2, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


148.
The present value of a $10,000, 5-year bond, will be less than $10,000 if the

a.
contractual interest rate is less than the market interest rate.

b.
contractual interest rate is greater than the market interest rate.

c.
bond is convertible.

d.
contractual interest rate is equal to the market interest rate.

Ans: a, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics

149.
Gomez Corporation issues 7,000, 10-year, 8%, $1,000 bonds dated January 1, 2017, at 98. The journal entry to record the issuance will show a

a.
debit to Cash of $7,000,000.

b.
credit to Discount on Bonds Payable for $140,000.

c.
credit to Bonds Payable for $7,000,000.

d.
debit to Cash for $6,860,000.

Ans: d, LO: 5, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


150.
The market interest rate is often called the

a.
stated rate.

b.
effective rate.

c.
coupon rate.

d.
contractual rate.

Ans: b, LO: 5, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


151.
If bonds are issued at a discount, it means that the

a.
financial strength of the issuer is suspect.

b.
market interest rate is higher than the contractual interest rate.

c.
market interest rate is lower than the contractual interest rate.

d.
bondholder will receive effectively less interest than the contractual interest rate.

Ans: b, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics

152.
The statement that "Bond prices vary inversely with changes in the market interest rate" means that if the

a.
market interest rate increases, the contractual interest rate will decrease.

b.
contractual interest rate increases, then bond prices will go down.

c.
market interest rate decreases, then bond prices will go up.

d.
contractual interest rate increases, the market interest rate will decrease.

Ans: c, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


153.
The carrying value of bonds will equal the market price

a.
at the close of every trading day.

b.
at the end of the fiscal period.

c.
on the date of issuance.

d.
every six months on the date interest is paid.

Ans: c, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


154.
The sale of bonds above face value

a.
is a rare occurrence.

b.
will cause the total cost of borrowing to be less than the bond interest paid.

c.
will cause the total cost of borrowing to be more than the bond interest paid.

d.
will have no net effect on interest expense by the time the bonds mature.

Ans: b, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

155.
Bond interest paid is

a.
higher when bonds sell at a discount.

b.
lower when bonds sell at a premium.

c.
the same whether bonds sell at a discount or a premium.

d.
higher when bonds sell at a discount and lower when bonds sell at a premium.
Ans: c, LO: 5, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


156.
Mendez Corporation issues 5,000, 10-year, 8%, $1,000 bonds dated January 1, 2017, at 103. The journal entry to record the issuance will show a

a.
debit to Cash of $5,000,000.

b.
credit to Bonds Payable for $5,150,000.

c.
credit to Premium on Bonds Payable for $150,000.

d.
credit to Cash for $5,150,000.

Ans: b, LO: 5, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


157.
Herman Company received proceeds of ₤470,000 on 10-year, 6% bonds issued on January 1, 2016. The bonds had a face value of ₤500,000, pay interest semi-annually on January 1, and have a call price of 101. Herman uses the straight-line method of amortization.

What is the amount of interest Herman must pay the bondholders on January 1, 2017?

a.
₤28,000
b.
₤30,000

c.
₤33,000
d.
₤27,000
Ans: b, LO: 5, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

158.
In the statement of financial position, the account Interest Payable is 

a.
added to bonds payable.

b.
deducted from bonds payable.

c.
classified as a current liability.

d.
classified as a revenue account.

Ans: b, LO: 5, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

159.
A bond with a face value of $30,000,000 and a quoted price of 102¼ has a selling price of 

a.
$30,675,000

b.
$30,067,500
c.
$30,000,000

d.
$29,325,000

Ans: a, LO: 5, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

160.
A bond with a face value of $30,000,000 and a quoted price of 97½ has a selling price of 

a.
$29,115,000

b.
$29,250,000

c.
$30,000,000

d.
$30,750,000

Ans: b, LO: 5, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

161.
Wittebury Corporation retires its £6,000,000 face value bonds at 105 on January 1, following the payment of annual interest. The carrying value of the bonds at the redemption date is $6,224,700. The entry to record the redemption will include
a.
a credit of £75,300 to Gain on Bond Redemption.

b.
a debit of £75,300 to Loss on Bond Redemption.

c.
a credit of £30,000 to Bonds Payable.

d.
a credit of £75,300 to Bonds Payable.
Ans: b, LO: 6, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

162.
Chang Company retired bonds with a face amount of ¥300,000,000 at 98 when the carrying value of the bond was ¥298,900,000. The entry to record the retirement would include a 
a.
gain on bond redemption of ¥4,900,000.
b.
loss on bond redemption of ¥1,100,000.
c.
loss on bond redemption of ¥6,000,000.
d.
gain on bond redemption of ¥7,100,000.
Ans: a, LO: 6, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


163.
Herman Company received proceeds of ₤754,000 on 10-year, 8% bonds issued on January 1, 2015. The bonds had a face value of ₤800,000, pay interest annually on January 1, and have a call price of 101. Herman uses the straight-line method of amortization.

Herman Company decided to redeem the bonds on January 1, 2017. What amount of gain or loss would Herman report on its 2017 income statement?

a.
₤36,800 gain

b.
₤44,800 gain

c.
₤44,800 loss

d.
₤36,800 loss

Ans: c, LO: 6, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting


164.
Bryce Company has $3,000,000 of bonds outstanding. The unamortized premium is $43,200. If the company redeemed the bonds at 101, what would be the gain or loss on the redemption?

a.
$13,200 gain

b.
$13,200 loss

c.
$30,000 gain

d.
$30,000 loss

Ans: a, LO: 6, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


165.
The current carrying value of Kruger’s $4,000,000 face value bonds is $3,985,000. If the bonds are retired at 102, what would be the amount Kruger would pay its bondholders?

a.
$3,985,000

b.
$4,000,000

c.
$4,020,000

d.
$4,080,000

Ans: d, LO: 6, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting


166.
Lahey Corporation retires its $2,000,000 face value bonds at 105 on January 1, following the payment of annual interest.  The carrying value of the bonds at the redemption date is $2,074,900. The entry to record the redemption will include a

a.
credit of $25,100 to Loss on Bond Redemption.

b.
debit of $25,100 to Loss on Bond Redemption.
c.
credit of $2,074,900 to Bonds Payable.
d.
debit of $2,000,000 to Bonds Payable.

Ans: b, LO: 6, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

167.
A $1,200,000 bond was retired at 103 when the carrying value of the bond was $1,244,000. The entry to record the retirement would include a

a.
gain on bond redemption of $36,000.

b.
loss on bond redemption of $24,000.

c.
loss on bond redemption of $36,000.

d.
gain on bond redemption of $8,000.

Ans: d, LO: 6, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


168.
A corporation recognizes a gain or loss

a.
only when bonds are redeemed at maturity.

b.
only when bonds are redeemed before maturity.

c.
when bonds are redeemed at or before maturity.

d.
when bonds are redeemed at maturity.
Ans: b, LO: 6, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


169.
If there is a loss on bonds redeemed early, it is

a.
debited directly to Retained Earnings.

b.
reported as an "Other income and expense" on the income statement.

c.
reported as an "operating expense" on the income statement.

d.
debited to Interest Expense, as a cost of financing.

Ans: b, LO: 6, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA

170.
A ¥1,200,000,000 bond was retired at 98 when the carrying value of the bond was ¥1,184,000,000. The entry to record the retirement would include a
a.
gain on bond redemption of ¥16,000,000.

b.
loss on bond redemption of ¥16,000,000.

c.
loss on bond redemption of ¥8,000,000.

d.
gain on bond redemption of ¥8,000,000.

Ans: d, LO: 6, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

171.
Which one of the following amounts increases each period when accounting for long term notes payable?

a.
Cash payment

b.
Interest expense

c.
Principal balance

d.
Reduction of principal
Ans: d, LO: 7, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA


172.
In the statement of financial position, mortgage payable is reported as

a.
a current liability only.

b.
a non-current liability only.

c.
both a current and a non-current liability.

d.
a current liability except for the reduction in principal amount.

Ans: c, LO: 7, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

173.
A mortgage note payable with a fixed interest rate requires the borrower to make installment payments over the term of the loan. Each installment payment includes interest on the unpaid balance of the loan and a payment on the principal. With each installment payment, indicate the effect on the portion allocated to interest expense and the portion allocated to principal.


Portion Allocated
Portion Allocated


to Interest Expense
to Payment of Principal
a.
Increases
Increases

b.
Increases
Decreases

c.
Decreases
Decreases

d.
Decreases
Increases

Ans: d, LO: 7, Bloom: C, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA

174.
The entry to record an installment payment on a mortgage loan is

a.
Mortgage Payable



Cash

b.
Interest Expense



Cash

c.
Mortgage Payable


Interest Expense



Cash

d.
Bonds Payable



Cash

Ans: c, LO: 7, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA

175.
Delmar Company purchased a building on January 2 by signing a long-term $840,000 mortgage with monthly payments of $7,700. The mortgage carries an interest rate of 10 percent.

The entry to record the first monthly payment will include a

a.
debit to the Cash account for $7,700.

b.
credit to the Cash account for $7,000.

c.
debit to the Interest Expense account for $7,000.

d.
credit to the Mortgage Payable account for $7,700.

Ans: c, LO: 7, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

176.
Delmar Company purchased a building on January 2 by signing a long-term $840,000 mortgage with monthly payments of $7,700. The mortgage carries an interest rate of 10 percent. The amount owed on the mortgage after the first payment will be

a.
$840,000.

b.
$839,300.

c.
$833,000.

d.
$832,300.

Ans: b, LO: 7, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

177.
Finney Company borrowed €2,000,000 from BankTwo on January 1, 2016 in order to expand its mining capabilities. The five-year note required annual payments of €520,872 and carried an annual interest rate of 9.5%. What is the amount of expense Finney must recognize on its 2017 income statement?

a.
€190,000

b.
€158,567
c.
€140,515
d.
€124,148
Ans: b, LO: 7, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

178.
Finney Company borrowed €2,000,000 from BankTwo on January 1, 2016 in order to expand its mining capabilities. The five-year note required annual payments of €520,872 and carried an annual interest rate of 9.5%. What is the balance in the notes payable account at December 31, 2017?

a.
€2,000,000

b.
€1,306,822
c.
€1,669,128
d.
€1,620,000
Ans: b, LO: 7, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

179.
On January 1, 2017, Michelin Company, a calendar-year company, issued €9,000,000 of mortgage notes payable, of which €3,000,000 is due on January 1 for each of the next three years. The proper statement of financial position presentation on December 31, 2017, is

a.
Current liabilities, €9,000,000.

b.
Non-current Liabilities, €4,500,000.

c.
Current liabilities, €4,500,000; Non-current Liabilities, €4,500,000.

d.
Current liabilities, €3,000,000; Non-current Liabilities, €6,000,000.

Ans: d, LO: 7, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

180.
Fretz Inc. Issues a CHF2,500,000, 8%, 20-year mortgage on January 1, 2017. The terms call for annual installment payments of CHF254,630.


The entry to record the first installment payment will include

a.
a credit to Interest Payable of CHF200,000.
b.
a debit to Mortgage Payable of CHF54,630.
c.
a debit to Interest Expense of CHF254,630.
d.
a credit to Cash of CHF200,000.
Ans: b, LO: 7, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

181.
Whitmore Corporation Issues a £3,000,000, 10%, 10-year mortgage on December 31, 2017. The terms call for annual installment payments of £488,235.The entry to record the first installment payable will include

a.
a debit to Interest Payable of £488,235.

b.
a debit to Mortgage Payable of £188,235.

c.
a debit to Interest Expense of £188,235.

d.
a credit to Cash of £300,000.

Ans: b, LO: 7, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

182.
The adjusted trial balance for Beneteau Corporation at the end of the 2017 included the following accounts:




5-year Bonds Payable 8%


€4,620,000





Interest Payable



     240,000





Notes Payable (3 mo.)


       50,000





Notes Payable (5 yr.)



  1,650,000





Mortgage Payable (€150,000 due currently)   2,000,000





Salaries and Wages Payable


       68,000





Taxes Payable (due 3/15 of next yr)

       85,000


The total non-current liabilities reported on the statement of financial position at December 31, 2017 are

a.
€7,880,000

b.
€8,030,000
c.
€8,120,000
d.
€8,360,000

Ans: c, LO: 8, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

183.
Selected data from 2017 financial statements of Xi Corporation include the following (amount in millions):




Current Assets

¥ 759



Total Assets

1,250



Current Liabilities

   300



Total Liabilities

   675



Cash


     80



Interest Expense

     50



income Taxes

   100



Net Income

   160


The debt to assets ratio is

a.
54.0%
b.
78%
c.
1.85%
d.
6.2 times
Ans: a, LO: 8, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting


184.
Each of the following may be shown on a supporting schedule instead of on the statement of financial position except the

a.
current maturities of long-term debt.

b.
conversion privileges.

c.
interest rates.

d.
maturity dates.
Ans: a, LO: 8, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

185.
The times interest earned is computed by dividing

a.
net income by interest expense.

b.
income before income taxes by interest expense.

c.
income before interest expense by interest expense.

d.
income before income taxes and interest expense by interest expense.

Ans: d, LO: 8, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


186.
In a recent year Hill Corporation had net income of $120,000, interest expense of $20,000, and tax expense of $40,000. What was Hill Corporation’s times interest earned for the year?

a.
9
b.
8
c.
7
d.
6
Ans: a, LO: 8, Bloom: AP, Difficulty: Medium, Min: 2, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

187.
In a recent year Cey Corporation had net income of $300,000, interest expense of $60,000, and a times interest earned of 8. What was Cey Corporation’s income before taxes for the year?

a.
$540,000

b.
$800,000

c.
$420,000

d.
None of the above.

Ans: c, LO: 8, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

188.
The adjusted trial balance for Lifesaver Corp. at the end of the current year, 2017, contained the following accounts.


5-year Bonds Payable 8%
$2,500,000


Interest Payable
50,000


Notes Payable (3 mo.)
40,000


Notes Payable (5 yr.)
165,000


Mortgage Payable ($15,000 due currently)
200,000


Salaries and Wages Payable
18,000


Taxes Payable (due 3/15 of 2018)
25,000


The total non-current liabilities reported on the statement of financial position are

a.
$2,765,000.

b.
$2,750,000.

c.
$2,865,000.

d.
$2,850,000.

Ans: d, LO: 8, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

189.
The 2017 financial statements of Shadow Co. contain the following selected data (in millions).


Current Assets
$  75


Total Assets
140


Current Liabilities
40


Total Liabilities
63

Cash
8

The debt to assets ratio is

a.
45.0%.

b.
47.9%.

c.
28.6%.

d.
2.22%.

Ans: a, LO: 8, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

190.
The present value of a bond is also known as its

a.
face value.

b.
market price.

c.
future value.

d.
deferred value.

Ans: b, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

 191.
¥1 billion, 8%, 10-year bonds are issued at face value. Interest will be paid annually. When calculating the market price of the bond, the present value of

a.
¥80,000,000 received for 5 periods must be calculated.

b.
¥1 billion received in 20 periods must be calculated.

c.
¥1 billion received in 10 periods must be calculated.

d.
¥40,000,000 received for 10 periods must be calculated.

Ans: c, LO: 4, Bloom: C, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

 192.
On January 1, 2017, Asianic Inc. issued 10-year bonds with a face amount of ¥40,000,000 and a contract rate of 8% payable annually on January 1. The effective-interest rate on the bonds is 10%. Present value factors are as follows:













At 8%

At 10%



PV of 1 for 10 periods






0.463

0.386



PV of an ordinary annuity if 1 for 10 periods



6.710

6.145



Total issue price of the bonds was

a.
¥40,000,000.
b.
¥39,200,000.
c.
¥36,800,000.
d.
¥35,104,000.
Ans: d, LO: 4, Bloom: C, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

 193.
On January 2, 2017, Provence Corporation wishes to issue €5,000,000 (par value) of its 8%, 10-year bonds. The bonds pay interest annually on January 1. The discount rate is 10%. Using the interest factors below, compute the amount that Provence will receive from the sale of the bonds.



Present Value of 1 at 8% for 10 periods




0.4632


Present Value of 1 at 10% for 10 periods




0.3855


Present Value of an ordinary annuity at 8% for 10 periods


6.7101


Present Value of an ordinary annuity at 10% for 10 periods


6.1446

a.
€4,385,340.

b.
€5,000,000.

c.
€5,400,000.

d.
€5,530,130.

Ans: a, LO: 4, Bloom: C, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a194.
On January 1, 2017, Istanbul Inc. sold bonds with a face amount of $7,000,000 and a contract rate of 10% for $6,197,065. The effective-interest rate is 12%. Interest is payable annually on January 1 Istanbul uses effective interest amortization of premiums and discounts.


What amount should Istanbul report as interest expense for year ended December 31, 2017?

a.
$840,000.

b.
$700,000.

c.
$743,648.

d.
$619,707.

Ans: c, LO: 9, Bloom: C, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a195.
On January 1, 2017, Istanbul Inc. sold bonds with a face amount of $7,000,000 and a contract rate of 10% for $6,197,065. The effective-interest rate is 12%. Interest is payable annually on January Istanbul uses effective interest amortization of premiums and discounts. 


The journal entry to record the first interest accrual and amortization of discount on December 31, 2017 will include
a.
a credit to Bonds Payable of $43,648.

b.
a crebit to Bonds Payable of $96,352.

c.
a credit to Cash of $743,648.

d.
a credit to Interest Payable of $840,000.

Ans: a, LO: 9, Bloom: C, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

196.
On January 1, 2017, Istanbul Inc. sold bonds with a face amount of $7,000,000 and a contract rate of 10% for $6,197,065. The effective-interest rate is 12%. Interest is payable annually on January 1. Istanbul uses effective interest amortization of premiums and discounts

What is the carrying value of the bonds at December 31, 2017?

a.
$6,192,885.

b.
$6,293,417.

c.
$6,240,713.

d.
$7,000,000.

Ans: c, LO: 9, Bloom: C, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


a 197.
Either the straight-line method or the effective-interest method of amortization will always result in

a.
the same amount of interest expense being recognized over the term of the bonds.

b.
the same amount of interest expense being recognized each year.

c.
more interest expense being recognized than if premium or discounts were not amortized.

d.
the same carrying value each year during the term of the bonds.

Ans: a, LO: 9, 10, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Industry/Sector, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics

a 198.
A corporation issued ¥800,000,000, 10%, 5-year bonds on January 1, 2017 for ¥864,888,000, which reflects an effective-interest rate of 8%. Interest is paid annually on January 1. If the corporation uses the effective-interest method of amortization of bond premium, the amount of bond interest expense to be recognized on December 31, 2017, is
a.
¥80,000,000.

b.
¥64,000,000.

c.
¥86,488,800.

d.
¥69,191,040.

Ans: d, LO: 9, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 199.
A bond discount must

a.
always be amortized using straight-line amortization.

b.
always be amortized using the effective-interest method.

c.
be amortized using the effective-interest method if it yields annual amounts that are materially different than the straight-line method.

d.
be amortized using the straight-line method if it yields annual amounts that are materially different than the effective-interest method.

Ans: c, LO: 9, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA


a 200.
When the effective-interest method of bond discount amortization is used,

a.
the applicable interest rate used to compute interest expense is the prevailing market interest rate on the date of each interest payment date.

b.
the carrying value of the bonds will decrease each period.

c.
interest expense will not be a constant dollar amount over the life of the bond.

d.
interest paid to bondholders will be a function of the effective-interest rate on the date the bonds are issued.

Ans: c, LO: 10, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA

a 201.
When the effective-interest method of bond premium amortization is used, the

a.
amount of premium amortized will get larger with successive amortization.

b.
carrying value of the bonds will increase with successive amortization.

c.
interest paid to bondholders will increase after each interest payment date.

d.
interest rate used to calculate interest expense will be the contractual rate.

Ans: a, LO: 9, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA

a 202.
Silcon Company issued $2,000,000 of 6%, 10-year bonds on one of its interest dates for $1,727,400 to yield an effective annual rate of 8%. The effective-interest method of amortization is to be used. Interest is paid annually.

What amount of discount (to the nearest dollar) should be amortized for the first interest period?

a.
$56,356
b.
$27,260
c.
$36,384
d.
$18,192
Ans: d, LO: 9, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 203.
Silcon Company issued $2,000,000 of 6%, 10-year bonds on one of its interest dates for $1,727,400 to yield an effective annual rate of 8%. The effective-interest method of amortization is to be used. Interest is paid annually.

The journal entry on the first interest payment date, to record the payment of interest and amortization of discount will include a

a.
debit to Interest Expense for $120,000.

b.
credit to Cash for $138,192.

c.
credit to Bonds Payable for $18,192.

d.
debit to Interest Expense for $160,000.

Ans: c, LO: 9, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 204.
Silcon Company issued $2,000,000 of 6%, 10-year bonds on one of its interest dates for $1,727,400 to yield an effective annual rate of 8%. The effective-interest method of amortization is to be used.

How much bond interest expense (to the nearest dollar) should be reported on the income statement for the end of the first year?

a.
$138,556
b.
$138,192
c.
$137,828
d.
$120,000

Ans: b, LO: 9, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

a 205.
On January 1, Patterson Inc. issued $8,000,000, 9% bonds for $7,512,000. The market rate of interest for these bonds is 10%.  Interest is payable annually on December 31. Patterson uses the effective-interest method of amortizing bond discount. At the end of the first year, Patterson’s unamortized bond discount is
a.
$439,200.

b.
$456,800.

c.
$412,880.

d.
$408,000.

Ans: b, LO: 9, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

a 206.
On January 1, Cleopatra Corporation issued $7,000,000, 14%, 5-year bonds with interest payable on December 31. The bonds sold for $7,504,670. The market rate of interest for these bonds was 12%. On the first interest date, using the effective-interest method, the debit entry to Interest Expense is for

a.
$840,000.

b.
$878,437.

c.
$900,561.

d.
$980,000.

Ans: c, LO: 9, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 207.
On January 1, Martinez Inc. issued $5,000,000, 9% bonds for $4,695,000. The market rate of interest for these bonds is 10%. Interest is payable annually on December 31. Martinez uses the effective-interest method of amortizing bond discount. At the end of the first year, Martinez’s unamortized bond discount is
a.
$274,500.

b.
$285,500.

c.
$258,050.

d.
$225,000.

Ans: b, LO: 9, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

a 208.
On January 1, Polk Corporation issued $4,000,000, 7%, 5-year bonds with interest payable on January 1. The bonds sold for $4,394,160. The market rate of interest for these bonds was 6%. On the first interest accrual date, using the effective-interest method, the debit entry to Interest Expense is for

a.
$240,000.

b.
$307,590.

c.
$263,650.

d.
$527,300.

Ans: c, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 209.
Which of the following statements regarding the effective-interest method of accounting for bonds characteristics is false?
a.
IFRS prefers the use of the effective-interest method.

b.
The amount of periodic interest expense decreases over the life of a discounted bond issue when the effective-interest method is used.

c.
Over the life of the bonds, the carrying value increases for discounted bonds when using the effective-interest method.

d.
The effective-interest method applies a constant percentage to the bond carrying value to compute interest expense.

Ans: b, LO: 9, Bloom: C, Difficulty: Easy, Min: 2, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA

a 210.
On January 1, 2016 Grogan Corporation issues $3,000,000, 5-year, 12% bonds at 96 with interest payable on January 1. Grogan uses the straight-line amortization method The carrying value of the bonds at the end of 2017 is

a.
$2,928,000

b.
$2,904,000

c.
$2,856,000

d.
$2,832,000

Ans: a, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

a 211.
If bonds are originally sold at a discount using the straight-line amortization method

a.
interest expense in the earlier years of the bond’s life will be less than the interest to be paid.

b.
interest expense in the earlier years of the bond’s life will be the same as interest to be paid.

c.
unamortized discount is subtracted from the face value of the bond to determine its carrying value.

d. unamortized discount is added to the face value of the bond to determine its carrying value.

Ans: c, LO: 10, Bloom: AP, Difficulty: Easy, Min: 2, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 212.
Presented here is a partial amortization schedule for Courtney Company who sold €750,000, five year 10% bonds on January 1, 2016 for €780,000 and uses annual straight-line amortization.

	
	BOND AMORTIZATION SCHEDULE

	Interest Period
	Interest Paid
	Interest Expense
	Premium Amortization
	Bond Carrying Value

	January 1, 2016
	
	
	
	€780,000

	January 1, 2017
	(i)
	(ii)
	(iii)
	(iv)


Which of the following amounts should be shown in cell (i)?

a.
€78,000
b.
€81,000
c.
€75,000

d.
€15,000

Ans: c, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 213.
Presented here is a partial amortization schedule for Courtney Company who sold €750,000, five year 10% bonds on January 1, 2016 for €780,000 and uses annual straight-line amortization.

	
	BOND AMORTIZATION SCHEDULE

	Interest Period
	Interest Paid
	Interest Expense
	Premium Amortization
	Bond Carrying Value

	January 1, 2016
	
	
	
	€780,000

	January 1, 2017
	(i)
	(ii)
	(iii)
	(iv)


Which of the following amounts should be shown in cell (ii)?
a.
€81,000
b.
€69,000
c.
€78,000
d.
€72,000
Ans: b, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 214.
Presented here is a partial amortization schedule for Courtney Company who sold €750,000, five year 10% bonds on January 1, 2016 for €780,000 and uses annual straight-line amortization.

	
	BOND AMORTIZATION SCHEDULE

	Interest Period
	Interest Paid
	Interest Expense
	Premium Amortization
	Bond Carrying Value

	January 1, 2016
	
	
	
	€780,000

	January 1, 2017
	(i)
	(ii)
	(iii)
	(iv)


Which of the following amounts should be shown in cell (iii)?

a.
€15,000

b.
€30,000

c.
€6,000
d.
€3,000
Ans: c, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 215.
Presented here is a partial amortization schedule for Courtney Company who sold €750,000, five year 10% bonds on January 1, 2016 for €520,000 and uses annual straight-line amortization.

	
	BOND AMORTIZATION SCHEDULE

	Interest Period
	Interest Paid
	Interest Expense
	Premium Amortization
	Bond Carrying Value

	January 1, 2016
	
	
	
	€780,000

	January 1, 2017
	(i)
	(ii)
	(iii)
	(iv)


Which of the following amounts should be shown in cell (iv)?

a.
€786,000
b.
€780,000
c.
€774,000
d.
€777,000
Ans: c, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 216.
On January 1, Hurley Corporation issues $3,500,000, 5-year, 12% bonds at 96 with interest payable on January 1. The entry on December 31 to record accrued bond interest and the amortization of bond discount using the straight-line method will include a

a.
debit to Interest Expense, $210,000.

b.
debit to Interest Expense, $420,000.

c.
credit to Bonds Payable, $28,000.

d.
credit to Bonds Payable, $14,000.

Ans: c, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

217.
On January 1, 2017, ¥5,000,000,000, 10-year, 10% bonds, were issued for $4,850,000,000. Interest is paid annually on January 1. If the issuing corporation uses the straight-line method to amortize discount on bonds payable, the monthly amortization amount is

a.
¥48,500,000.

b.
¥15,000,000.

c.
¥4,040,000.

d.
¥1,250,000.

Ans: d, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


218.
A corporation issues ¥2,000,000,000, 10%, 5-year bonds on January 1, 2017, for $1,916,000,000. Interest is paid annually on January 1. If the corporation uses the straight-line method of amortization of bond discount, the amount of bond interest expense to be recognized in December 31, 2017’s adjusting entry is

a.
¥216,800,000.

b.
¥200,000,000.

c.
¥183,200,000.

d.
¥16,800,000.

Ans: a, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 219.
Roman Company issued $4,000,000 of 6%, 5-year bonds at 98, with interest paid annually. Assuming straight-line amortization, what is the total interest cost of the bonds?

a.
$1,200,000

b.
$1,280,000

c.
$1,120,000

d.
$1,160,000

Ans: b, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 220.
Sunwood Company issued $3,000,000 of 6%, 5-year bonds at 98, with interest paid annually. Assuming straight-line amortization, what is the carrying value of the bonds after one year?

a.
$2,940,000

b.
$2,946,000
c.
$2,952,000
d.
$2,964,000
Ans: c, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting


a 221.
Terrance Company issued $1,500,000 of 8%, 5-year bonds at 106. Assuming straight-line amortization and annual interest payments, how much bond interest expense is recorded on the next interest date?

a.
$120,000

b.
$138,000

c.
$102,000

d.
$18,000

Ans: c, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 222.
Garcia Company issued $900,000 of 8%, 5-year bonds at 106, with interest paid annually. Assuming straight-line amortization, what is the carrying value of the bonds after one year?

a.
$954,000

b.
$948,600
c.
$943,200
d.
$959,400
Ans: c, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting


a223.
On January 1, 2017, $6,000,000, 5-year, 10% bonds, were issued for $5,820,000. Interest is paid annually on January 1. If the issuing corporation uses the straight-line method to amortize discount on bonds payable, the monthly amortization amount is

a.
$34,848.

b.
$36,000.

c.
$2,904.

d.
$3,000.

Ans: d, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a 224.
A corporation issues ¥2,000,000,000, 10%, 5-year bonds on January 1, 2017 for ¥1,916,000,000. Interest is paid annually on January 1. If the corporation uses the straight-line method of amortization of bond discount, the amount of bond interest expense to be recognized in December 31, 2017's adjusting entry is
a.
¥208,400,000.

b.
¥200,000,000.

c.
¥216,800,000.

d.
¥91,600,000.

Ans: c, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


a 225.
If bonds have been issued at a discount, over the life of the bonds, the

a.
carrying value of the bonds will decrease.

b.
carrying value of the bonds will increase.

c.
interest expense will increase, if the discount is being amortized on a straight-line basis.

d.
unamortized discount will increase.

Ans: b, LO: 10, Bloom: C, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

a226.
Herman Company received proceeds of $754,000 on 10-year, 8% bonds issued on January 1, 2016. The bonds had a face value of $800,000, pay interest annually on January 1, and have a call price of 101. Herman uses the straight-line method of amortization.

What is the amount of interest expense Herman will show with relation to these bonds for year ended December 31, 2017?

a.
$64,000

b.
$60,320
c.
$68,600
d.
$59,400
Ans: c, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

a227.
Herman Company received proceeds of $754,000 on 10-year, 8% bonds issued on January 1, 2016. The bonds had a face value of $800,000, pay interest annually on January 1, and have a call price of 101. Herman uses the straight-line method of amortization.

What is the carrying value of the bonds on January 1, 2018?

a.
$800,000

b.
$763,200
c.
$790,800
d.
$758,600
Ans: b, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

a228.
On January 1, 2017, Bentley Company issued £30,000,000, 5-year, 7% bonds, were issued for £29,550,000. Interest is paid annually on December 31. Bentley uses the straight-line method to amortize discount on bonds payable



The annual amortization of bond discount is
a.
£45,000.
b.
£90,000.
c.
£120,000.
d.
£420,000.
Ans: b, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting
a229.
On January 1, 2017, Bentley Company issued £30,000,000, 5-year, 7% bonds, were issued for £29,550,000. Interest is paid annually on December 31. Bentley uses the straight-line method to amortize discount on bonds payable


The amount of bond interest expense reported on the 2014 income statement will be

a.
£0.

b.
£2,190,000.

c.
£2,100,000.

d.
£2,010,000.

Ans: b, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

a230.
On January 1, 2017, Bentley Company issued £30,000,000, 5-year, 7% bonds, were issued for £29,550,000. Interest is paid annually on December 31. Bentley uses the straight-line method to amortize discount on bonds payable



The December 31, 2017 journal entry to record the cash payment to bondholders and amortization of discount will include
a.
a debit to Bonds Payable for £90,000.

b.
a credit to Interest Payable for £2,100,000.

c.
a credit to Bonds Payable for £2,010,000.

d.
a debit to Interest Expense for £2,190,000.

Ans: d, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting
a231.
Aragon Corporation issues CHF4,000,000, 6%, 5-year bonds on January 1, 2017, for CHF4,050,000. Interest is paid annually on January 1. If Aragon uses the straight-line method to amortize bond discount and premium, the amount of bond interest to be accrued at December 31, 2017 is
a.
CHF248,000.

b.
CHF240,000.

c.
CHF230,000.

d.
CHF0.

Ans: c, LO: 10, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

232.
A current liability is a debt the company reasonably expects to pay from existing current assets within

a.
one year.

b.
the operating cycle.

c.
one year or the operating cycle, whichever is longer.

d.
one year or the operating cycle, whichever is shorter.

Ans: C, LO: 1, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

233.

Which of the following statements concerning current liabilities is incorrect?
a.
Current liabilities include unearned revenues.

b.
A company that has more current liabilities than current assets is usually the subject of some concern.

c.
Current liabilities include prepaid expenses.

d.
A current liability is a debt that can reasonably be expected to be paid out of existing current assets or result in the creation of other current liabilities.
Ans: C, LO: 1, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


234.
On August 1, 2017, a company borrowed cash and signed a one-year interest-bearing note on which both the face value and interest are payable on August 1, 2018. How will the note payable and the related interest be classified in the December 31, 2017, statement of financial position?


Note Payable
Interest Payable
a.
Current liability
Non-current liability

b.
Non-current liability
Current liability

c.
Current liability
Current liability

d.
Non-current liability
Not shown

Ans: C, LO: 2,3, Bloom: K, Difficulty: Easy, Min: 2, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

235.
Companies report current liabilities on the statement of financial position in

a.
alphabetical order.

b.
order of maturity.

c.
random order.

d.
order of magnitude.

Ans: D, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

236.

The market value (present value) of a bond is a function of all of the following except the

a.
dollar amounts to be received.

b.
length of time until the amounts are received.

c.
market rate of interest.

d.
length of time until the bond is sold.

Ans: d, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Industry/Sector, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


237.
The market rate of interest for a bond issue which sells for more than its face value is

a.
independent of the interest rate stated on the bond.

b.
higher than the interest rate stated on the bond.

c.
equal to the interest rate stated on the bond.

d.
less than the interest rate stated on the bond.

Ans: d, LO: 5, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Industry/Sector, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


238.
When a company retires bonds before maturity, the gain or loss on redemption is the difference between the cash paid and the

a.
carrying value of the bonds.

b.
face value of the bonds.

c.
original selling price of the bonds.

d.
maturity value of the bonds.
Ans: a, LO: 6, Bloom: k, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Industry/Sector, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


239.
Hoffman Corporation retires its bonds at 106 on January 1, following the payment of annual interest. The face value of the bonds is $2,000,000. The carrying value of the bonds at the redemption date is $2,099,000. The entry to record the redemption will include a

a.
credit of $99,000 to Loss on Bond Redemption.

b.
debit of $2,120,000 to Bonds Payable.

c.
credit of $21,000 to Gain on Bond Redemption.

d.
debit of $2,099,000 to Bonds Payable.
Ans: d, LO: 6, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA


240.
Each payment on a mortgage note payable consists of

a.
interest on the original balance of the loan.

b.
reduction of loan principal only.

c.
interest on the original balance of the loan and reduction of loan principal.

d.
interest on the unpaid balance of the loan and reduction of loan principal.
Ans: d, LO: 7, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA

241.

Buffon Electronics Company issues a $2,000,000, 10%, 20-year mortgage note on January 1. The terms provide for annual installment payments, exclusive of real estate taxes and insurance, of $234,920. After the first installment payment, the principal balance is
a.
$2,000,000.

b.
$1,965,080.

c.
$1,983,448.

d.
$1,558,250.

Ans: c, LO: 7, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting


242.
The debt to total assets ratio is computed by dividing

a.
long-term liabilities by total assets.

b.
total debt by total assets.

c.
total assets by total debt.

d.
total assets by long-term liabilities.

Ans: b, LO: 8, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

a 243.
The market price of a bond is the

a.
present value of its principal amount at maturity plus the present value of all future interest payments.

b.
principal amount plus the present value of all future interest payments.

c.
principal amount plus all future interest payments.

d.
present value of its principal amount only.

Ans: a, LO: 9, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Industry/Sector, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics
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BRIEF EXERCISES

BE 244
Kingery Sales Company has the following selected accounts after posting adjusting entries:

Accounts Payable
₤  45,000

Notes Payable, 3-month
50,000

Accumulated Depreciation—Equipment
14,000

Notes Payable, 5-year, 6%
100,000

Salaries and Wages Expense
4,000

Interest Payable
3,000

Mortgage Payable
120,000

Sales Taxes Payable
38,000

Instructions
Prepare the current liability section of Kingery Sales Company's statement of financial position, assuming ₤25,000 of the mortgage is payable next year.

Ans: N/A, LO: 1, Bloom: C, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 244
(5 min.)


KINGERY SALES COMPANY

Current Liabilities

Notes Payable, 3-month
  ₤   50,000

Accounts Payable
45,000

Sales Taxes Payable
38,000

Current portion of long-term debt
25,000

Interest Payable
      3,000

Total Current Liabilities
₤161,000

BE 245
Identify which of the following would be classified as current liabilities as of December 31, 2017:

1.
Salaries and Wages Payable

2.
Bonds Payable, maturing in 2022
3. 
Interest Payable, due July 1, 2018
4.
Income Taxes Payable

5.
Notes Payable, due January 30, 2019
Ans: N/A, LO: 1, Bloom: K, Difficulty: Medium, Min: 3, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: None, IMA: FSA

Solution 245
(3 min.)

Current liabilities include: Salaries and Wages Payable, Income Taxes Payable, and Interest Payable

BE 246
On December 1, Gilman Corporation borrowed $20,000 on a 90-day, 6% note. Prepare the entries to record the issuance of the note, the accrual of interest at year end, and the payment of the note.

Ans: N/A, LO: 2, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 246
(5 min.)

Dec 1
Cash

20,000



Notes Payable


20,000

Dec 31
Interest Expense

100


Interest Payable


100
Mar 1
Interest Expense

200

Interest Payable

100

Notes Payable

20,000



Cash


20,300
BE 247
During December 2016, Markowitz Publishing sold 3,000 12-month annual magazine subscriptions at a rate of $30 each. The first issues were mailed in February 2017. Prepare the entries on Markowitz’s books to record the sale of the subscriptions and the mailing of the first issues.

Ans: N/A, LO: 3, Bloom: AP, Difficulty: Medium, Min: 4, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 247
(4 min.)

December 2016
Cash

90,000



Unearned Subscription Revenue


90,000




(3,000 × $30 = $90,000)

February 2017
Unearned Subscription Revenue

7,500


Subscription Revenue


7,500



($90,000 ÷ 12 = $7,500)

BE 248
Putman Company had cash sales of $102,600 (including taxes) for the month of June. Sales are subject to 8% sales tax. Prepare the entry to record the sale.

Ans: N/A, LO: 3, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 248
(3 min.)


Cash

102,600


Sales Revenue ($102,600 ÷ 1.08)


95,000



Sales Taxes Payable


7,600
BE 249
Shaffer Inc. is considering two alternatives to finance its construction of a new $5 million plant.

(a)
Issuance of 500,000 ordinary shares at the market price of $10 per share.

(b)
Issuance of $5 million, 8% bonds at par.

Instructions
Complete the following table.










Issue Shares

Issue Bonds
Income before interest and taxes


$2,000,000

$2,000,000

Interest expense from bonds



_________

_________

Income before income taxes



$


$

Income tax expense (30%)



_________

_________

Net income





$________

$________

Outstanding shares
_________
     800,000

Earnings per share




_________

_________

Ans: N/A, LO: 4, Bloom: AP, Difficulty: Hard, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 249
(5 min.)










Issue Shares

Issue Bonds

Income before interest and taxes


$2,000,000

$2,000,000

Interest ($5,000,000 × 8%)




    0

     400,000

Income before income taxes



  2,000,000

  1,600,000

Income tax expense (30%)



     600,000

     480,000

Net income (a)




$1,400,000

$1,120,000

Outstanding shares (b)



  1,300,000

     800,000

Earnings per share (a) ÷ (b)



         $1.08

         $1.40
BE 250
On January 1, 2017, Beltway Enterprises issued 9%, 5-year bonds with a face amount of €900,000 at par.  Interest is payable semiannually on June 30 and December 31.

Instructions

Prepare the entries to record the issuance of the bonds and the first semiannual interest payment.

Ans: N/A, LO: 5, Bloom: AP, Difficulty: Medium, Min: 4, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 250
(4 min.)

Jan.
1
Cash

900,000




Bonds Payable


900,000

June
30
Interest Expense

40,500




Cash


40,500




   (€900,000 × .09 ÷ 2 = €40,500)

BE 251
On January 1, 2017, Kentwood Company issued bonds with a face value of $1,000,000. The bonds carry a stated interest of 7% payable each January 1.

Instructions

a.
Prepare the journal entry for the issuance assuming the bonds are issued at 97.

b.
Prepare the journal entry for the issuance assuming the bonds are issued at 102.

Ans: N/A, LO: 5, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 251
(5 min.)

(a)
Cash

970,000



Bonds Payable


970,000
(b)
Cash

1,020,000



Bonds Payable


1,020,000

BE 252
On January 1, 2017, Frodo Corporation issued $800,000, 6%, 10-year bonds at face value. Interest is payable annually on January 1. Frodo Corporation has a calendar year end.

Instructions
Prepare all entries related to the bond issue for 2017.

Ans: N/A, LO: 5, Bloom: AP, Difficulty: Medium, Min: 4, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 252
(4 min.)

2017
Jul.
1
Cash

800,000




Bonds Payable


800,000

Dec.
31
Interest Expense

48,000




Interest Payable


48,000

BE 253
On January 1, 2016, Zooland Enterprises sold 8%, 20-year bonds with a face amount of $1,500,000 for $1,440,000. Interest is payable annually on January 1.

Instructions
Calculate the carrying value of the bond at December 31, 2016 and 2017.Assume straight-line amortization.
Ans: N/A, LO: 5, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 253
(5 min.)

Annual amortization of discount:  $60,000 ÷ 20 = $3,000

December 31, 2016:  $1,440,000 +  $3,000 =  $1,443,000

December 31, 2017:   $1,443,000 +  $3,000 =  $1,446,000

BE 254
Delta Company issued bonds with a face amount of $2,000,000 in 2013. As of January 1, 2017, the unamortized discount on bonds payable is $6,400. At that time, Delta redeemed the bonds at 101.

Instructions
Assuming that no interest is payable, make the entry to record the redemption.

Ans: N/A, LO: 6, Bloom: AP, Difficulty: Medium, Min: 3, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 254
(3 min.)

Jan. 1
Bonds Payable

1,993,600

Loss on Bond Redemption

26,400


Cash


2,020,000

BE 255
Nicholson Inc. issues a €1,600,000, 10%, 10-year mortgage note on December 31, 2016, to obtain financing for a new building. The terms provide for annual installment payments of €260,392.

Instructions
Prepare the entry to record the mortgage loan on December 31, 2016, and the first installment payment on December 31, 2017.

Ans: N/A, LO: 7, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 255
(5 min.)
2016

Dec. 31
Cash

1,600,000



Mortgage Payable


1,600,000

2017
Dec. 31
Interest Expense

1,600,000


Mortgage Payable

100,392


Cash


260,392
BE 256
Franco Corporation reports the following selected financial statement information at December 31, 2017:

Total Assets
$110,000

Total Liabilities
65,000

Net Income
1,800
Interest Revenue
600

Interest Expense
900

Income Tax Expense
300

Instructions
Calculate the debt to assets and times interest earned ratios.

Ans: N/A, LO: 8, Bloom: AP, Difficulty: Medium, Min: 4, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 256
(4 min.)

Debt to assets:  $65,000 ÷ $110,000 = 59%

Times interest earned:  ($1,800 + $900 + $300) ÷ $900 = 3.33 times

aBE 257
On January 1, 2017, Fabian Enterprises issued 9%, 10-year bonds with a face amount of $1,500,000 at 96. Interest is payable annually on January 1. The bonds were issued for an effective interest rate of 10%.

Instructions
Prepare the entries to record the issuance of the bonds and the first annual interest accrual and amortization assuming that the company uses effective-interest amortization.

Ans: N/A, LO: 9, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

aSolution 257
(5 min.)

Jan.
1
Cash

1,440,000




Bonds Payable


1,440,000



  ($1,500,000 × .96 = $1,440,000)

Dec.
31
Interest Expense

144,000



Bonds Payable


9,000



Interest


135,000




  ($1,440,000 × .10 = $144,000)




  ($1,500,000 × .09 = $135,000)

aBE 258
On January 1, 2017, Halston Enterprises issued 8%, 20-year bonds with a face amount of $3,000,000 at 101. Interest is payable annually on January 1. 

Instructions
Prepare the entries to record the issuance of the bonds and the first annual interest accrual and amortization assuming that the company uses straight-line amortization.

Ans: N/A, LO: 10, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

aSolution 258
(5 min.)

Jan.
1
Cash

3,030,000




Bonds Payable


3,030,000




  ($3,000,000 × 1.01 = $3,030,000)

Dec.
31
Interest Expense

238,500


Bonds Payable

1,500



Cash


240,000




  ($3,000,000 × .08 = $240,000)




  ($30,000 ÷ 20 = $1,500)

EXERCISES

Ex. 259
Howell Company has the following selected accounts after posting adjusting entries:

Accounts Payable
€75,000

Notes Payable, 3-month
80,000

Accumulated Depreciation—Equipment
14,000

Salaries and Wages Payable
27,000

Notes Payable, 5-year, 8%
30,000

Warranty Liability
34,000

Salaries and Wages Expense
6,000

Interest Payable
3,000

Mortgage Payable
200,000

Sales Taxes Payable
21,000

Instructions
(a)
Prepare the current liability section of Howell Company's statement of financial position, assuming €25,000 of the mortgage is payable next year. (List liabilities in magnitude order, with largest first.)

(b)
Comment on Howel's liquidity, assuming total current assets are €500,000.

Ans: N/A, LO: 1 and 3, Bloom: AP, Difficulty: Medium, Min: 10, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 259
(10 min.)

(a)
HOWELL COMPANY

Current Liabilities

Notes payable, 3-month
€   80,000

Accounts payable
75,000

Warranty liability
34,000

Salaries and wages payable
27,000

Long-term debt due within one year
25,000

Sales taxes payable
21,000

Interest payable
      3,000

Total Current Liabilities
€265,000
 (b)
The liquidity position looks favorable. If all current liabilities are paid out of current assets, there would still be €235,000 of current assets. The current assets are almost twice the current liabilities and it appears as though Howell Company has sufficient current resources to meet current obligations when due.

Ex. 260
Prepare the necessary journal entries for the following transactions:

(a)
On September 1, Cole Company borrowed $250,000 from National Bank on a 6-month, 6% note.

(b)
On December 31, Cole Company accrued interest (assume adjusting entries are only made at the end of the year).

Ans: N/A, LO: 2, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 260
(5 min.)

(a)
Cash

250,000



Notes Payable


250,000
(b)
Interest Expense

5,000



Interest Payable ($250,000 × .06 × 4/12)


5,000

Ex. 261
On March 1, Jordan Company borrows $180,000 from Ottawa State Bank by signing a 6-month, 8%, interest-bearing note.

Instructions
Prepare the necessary entries below associated with the note payable on the books of Jordan Company.

(a)
Prepare the entry on March 1 when the note was issued.

(b)
Prepare any adjusting entries necessary on June 30 in order to prepare the semi-annual financial statements. Assume no other interest accrual entries have been made.

(c)
Prepare the adjusting entry at August 31 to accrue interest. 

(d)
Prepare the entry to record payment of the note at maturity.

Ans: N/A, LO: 2, Bloom: AP, Difficulty: Medium, Min: 10, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 261
(10 min.)

(a)
March
1
Cash

180,000





Notes Payable


180,000

(b)
June
30
Interest Expense

4,800




Interest Payable [($180,000 × 8% × (4 ÷ 12)]


4,800
(c)
Aug.
31
Interest Expense

2,400




Interest Payable


2,400
(d)
Sept.
1
Notes Payable

180,000




Interest Payable

7,200




Cash


187,200
Ex. 262
Wellington Company had the following transactions involving notes payable.

Nov. 1, 2016
Borrows $150,000 from Olathe State Bank by signing a 3-month, 10% note.

Dec. 31, 2016
Prepares the adjusting entry.

Feb. 1, 2017
Pays principal and interest to Olathe State Bank.

Instructions

Prepare journal entries for each of the transactions.

Ans: N/A, LO: 2, Bloom: AN, Difficulty: Medium, Min: 8, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 262
(8 min.)

November 1, 2016
Cash
         150,000


Notes Payable
                              150,000

December 31, 2016
Interest Expense


($150,000 ( 10% ( 2/12)
           2,500


Interest Payable
                                2,500

February 1, 2017
Notes Payable
         150,000

Interest Payable
           2,500

Interest Expense
              1,250

Cash
                              153,750
Ex. 263
Flores Company publishes a monthly sports magazine, Hunting Preview. Subscriptions to the magazine cost $20 per year. During October 2016, Flores sells 24,000 subscriptions beginning with the November issue. Flores prepares financial statements quarterly and recognizes subscription revenue earned at the end of the quarter. The company uses the accounts Unearned Subscription Revenue and Subscription Revenue.

Instructions

(a)
Prepare the entry in October for the receipt of the subscriptions.

(b)
Prepare the adjusting entry at December 31, 2016, to record subscription revenue earned in December 2016.

(c)
Prepare the adjusting entry at March 31, 2017, to record subscription revenue earned in the first quarter of 2017.

Ans: N/A, LO: 3, Bloom: AN, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 263
(5 min.)

(a)
Oct. 31
Cash
      480,000


Unearned Subscription Revenue

(24,000 ( $20)
                            480,000

(b)
Dec. 31
Unearned Subscription Revenue
        80,000


Subscription Revenue


($480,000 ( 2/12)
                              80,000

(c)
Mar. 31
Unearned Subscription Revenue
      120,000


Subscription Revenue


($480,000 ( 3/12)
                                120,000

Ex. 264
English Company billed its customers a total of $1,470,000 for the month of November. The total includes a 5% sales tax.

Instructions
(a)
Determine the proper amount of revenue to report for the month.

(b)
Prepare the general journal entry to record the revenue and related liabilities for the month.

Ans: N/A, LO: 3, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 264
(5 min.)

(a)
$1,470,000 ÷ 1.05 = $1,400,000 is the total sales revenue.

(b)
$1,400,000 × .05 = $70,000 is the sales tax liability.


Journal Entry:

Accounts Receivable 

1,470,000



Sales Revenue 


1,400,000



Sales Taxes Payable 


70,000
Ex. 265
Hibbett Company does not segregate sales and sales taxes on its cash register. Its register total for the month is $291,500, which includes a 6% sales tax.

Instructions
Compute sales taxes payable, and make the entry to record sales and sales taxes payable.
Ans: N/A, LO: 3, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 265
(5 min.)

Sales taxes payable = $16,500   [$291,500 – ($291,500 ( 1.06)]

Cash

291,500

Sales Taxes Payable


16,500

Sales Revenue ($291,500 ( 1.06)


275,000

Ex. 266
Based on the following information, compute the (1) current ratio and (2) working capital.


Current assets

¥180,000,000

Total assets

900,000,000

Current liabilities

80,000,000

Total liabilities

500,000,000
Ans: N/A, LO: 3, Bloom: AN, Difficulty: Medium, Min: 4, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 266
(4 min.)

(1)
Current ratio = 2.25:1 (¥180,000,000 ( ¥80,000,000)

(2)
Working capital = ¥100,000,000  (¥180,000,000 – ¥80,000,000)

Ex. 267
Mehring's 2017 financial statements contained the following data (in millions).

Current assets
$20,890
Accounts receivable
$1,550

Total assets
  42,430
Interest expense
980

Current liabilities
  15,160
Income tax expense
1,270

Total liabilities
  32,580
Net income
2,230

Cash
       380

Instructions

Compute these values:

(a)
Working capital.
(b)
Current ratio.

Ans: N/A, LO: 3, Bloom: S, Difficulty: Medium, Min: 4, AACSB: Analytic, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 267
(4 min.)

(a)
Working capital = $20,890 – $15,160 = $5,730 million

(b)
Current ratio = $20,890 ( $15,160 = 1.38:1

Ex. 268
Banks Company is considering two alternatives to finance its purchase of a new $4,000,000 office building.

(a)
Issue 400,000 ordinary shares at $10 per share.

(b)
Issue 8%, 10-year bonds at par ($4,000,000).

Income before interest and taxes is expected to be $3,000,000. The company has a 30% tax rate and has 800,000 ordinary shares outstanding prior to the new financing.

Instructions

Calculate each of the following for each alternative:

(1)
Net income.

(2)
Earnings per share.

Ans: N/A, LO: 4, Bloom: AP, Difficulty: Hard, Min: 12, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 268
(12–15 min.)


(a) Issue Shares
(b) Issue Bonds
Income before interest and taxes
$3,000,000
$3,000,000

Interest (8% × $4,000,000)

—

     320,000
Income before income taxes
3,000,000
2,680,000

Income tax expense
     900,000
     804,000
(1)
Net income
$2,100,000
$1,876,000

Shares outstanding
1,200,000
800,000

(2)
Earnings per share
$1.75
$2.35
Ex. 269
The board of directors of Gibson Corporation is considering two plans for financing the purchase of new plant equipment. Plan #1 would require the issuance of $4,000,000, 6%, 20-year bonds at face value. Plan #2 would require the issuance of 100,000 ordinary shares with a $5 par value which are selling for $40 per share on the open market. Gibson Corporation currently has 100,000 ordinary shares outstanding and the income tax rate is expected to be 30%. Assume that income before interest and income taxes is expected to be $800,000 if the new factory equipment is purchased.

Instructions
Prepare a schedule which shows the expected net income after taxes and the earnings per share under each of the plans that the board of directors is considering.

Ans: N/A, LO: 4, Bloom: AN, Difficulty: Medium, Min: 10, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 269
(10–12 min.)


   Plan #1
   Plan #2


Issue Bonds
Issue Shares
Income before interest and taxes
$800,000
$800,000

Interest expense ($4,000,000 × 6%)
  240,000

—


Income before taxes
560,000
800,000

Income taxes (30%)
    168,000
  240,000
Net income
$392,000
$560,000

Outstanding shares
100,000
200,000

Earnings per share
$3.92
$2.80
Ex. 270
United Health is considering two alternatives for the financing of some high technology medical equipment. These two alternatives are:

1.
Issue 50,000 ordinary shares with a $10 par value at $50 per share.

2.
Issue $2,500,000, 10%, 10-year bonds at par.

It is estimated that the company will earn $900,000 before interest and taxes as a result of acquiring the medical equipment. The company has an estimated tax rate of 30% and has 120,000 ordinary shares outstanding prior to the new financing.

Instructions
Determine the effect on net income and earnings per share for these two methods of financing.

Ans: N/A, LO: 4, Bloom: AN, Difficulty: Medium, Min: 10, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 270
(10–15 min.)

The alternative effects on net income and earnings per share are as follows:


Issue Shares
Issue Bonds
Income before interest and taxes
$900,000
$900,000

Interest (10% × $2,500,000)

 —

 (250,000)

Income before income taxes
900,000
650,000

Income tax expense
 (270,000)
 (195,000)

Net income
$630,000
$455,000
Outstanding shares
170,000
120,000
Earnings per share
$3.71
$3.79
Net income is higher if the equipment is financed through the issuance of shares. However, earnings per share is lower because of the additional number of ordinary shares that are outstanding.

Ex. 271
Three plans for financing a ¥25,000,000 corporation are under consideration by its organizers. Under each of the following plans, the securities will be issued at their par or face amount and the income tax rate is estimated at 30%.


     Plan 1

     Plan 2

     Plan 3


9% Bonds
—
—
¥10,000,000

6% Preference Shares, ¥100 par
—
¥10,000,000
5,000,000

Ordinary Shares, ¥10 par
¥25,000,000
  15,000,000
    10,000,000

Total
¥25,000,000
¥25,000,000
¥25,000,000

It is estimated that income before interest and taxes will be ¥5,000,000.

Instructions
Determine for each plan, the expected net income and the earnings per share.
Ans: N/A, LO: 4, Bloom: AN, Difficulty: Hard, Min: 14, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 271
(14–19 min.)


    Plan 1

    Plan 2

    Plan 3


Earnings before interest and income tax
¥5,000,000
¥5,000,000
¥5,000,000

Deduct interest on bonds

—


—

    (900,000)


Income before income tax
5,000,000
5,000,000
4,100,000

Deduct income tax
 (1,500,000)
 (1,500,000)
(1,230,000)


Net Income
3,500,000
3,500,000
2,870,000

Dividends on preference shares

—

    (600,000)
    (300,000)

Available for dividends on ordinary shares
¥3,500,000
¥2,900,000
¥2,570,000

Ordinary shares outstanding
2,500,000
1,500,000
1,000,000

Earnings per share
¥1.40
¥1.93
¥2.57
Ex. 272
Taylor Corporation issued $3 million, 10-year, 6% bonds on January 1, 2017.

Instructions

Prepare the entry to record the sale of these bonds, assuming they were issued at

(a)
98.

(b)
103.

Ans: N/A, LO: 5, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 272
(5–7 min.)

(a)
Cash ($3,000,000 × 98%)

2,940,000



Bonds Payable


2,940,000
(b)
Cash ($3,000,000 × 103%)

3,090,000



Bonds Payable


3,090,000

Ex. 273
On January 1, 2016, Lang Corporation issued $1,500,000, 8%, 10-year bonds at face value. Interest is payable annually on January 1. Lang Corporation has a calendar year end.

Instructions

Prepare all entries related to the bond issue for 2016 and January 1, 2017.

Ans: N/A, LO: 5, Bloom: AN, Difficulty: Medium, Min: 6, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 273
(6–10 min.)

2016
Jan.
1
Cash

1,500,000




Bonds Payable 


1,500,000

Dec.
1
Interest Expense 

1200,000




Interest Payable 


120,000





($1,500,000 × 8% = $120,000)

2017
Jan. 1

Interest Payable 

120,000




Cash 


120,000

Ex. 274
On January 1, 2016 Porter Corporation issued $800,000, 6%, 5-year bonds at face value. Interest is payable annually on January 1.

Instructions

Prepare journal entries to record the

(a)
Issuance of the bonds.

(b)
Accrual of interest on December 31.
(c)
Payment of interest on January 1, 2017.

Ans: N/A, LO: 5, Bloom: AP, Difficulty: Medium, Min: 8, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 274
(8 min.)

(a)
Cash

800,000



Bonds Payable


800,000

(b)
Interest Expense

48,000



Interest Payable ($800,000 × 6%)


48,000

(c)
Interest Payable

48,000



Cash


48,000

Ex. 275
The following section is taken from Brown Corp’s statement of financial position at December 31, 2016.


Current liabilities




Interest Payable

$ 360,000


Non-current liabilities




Bonds Payable, 9%, due January 1, 2021 
 
4,000,000

Interest is payable annually on January 1 and July 1. The bonds are callable on any interest date.

Instructions

(a)
Journalize the payment of the bond interest on January 1, 2017.

(b) Assume that on January 1, 2017, after paying interest, Brown calls bonds having a face value of $1,600,000. The call price is 104. Record the redemption of the bonds.

(c) Prepare the entry to record the accrual of interest on December 31, 2017, assuming no previous accrual of interest on the remaining bonds.

Ans: N/A, LO: 5,6, Bloom: AP, Difficulty: Medium, Min: 9, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 275
(7–10 min.)

(a)
Interest Payable

360,000



Cash


360,000

(b)
Bonds Payable

1,600,000


Loss on Bond Redemption

64,000



Cash


1,664,000



  ($1,600,000 × 1.04 = $1,664,000)



  ($1,664,000 - $1,600,000 = $64,000)

(c)
Interest Expense

216,000



Interest Payable


216,000



  ([$4,000,000 - $1,600,000] × .09 = $216,000)

Ex. 276
Carpino Company issued €800,000 of bonds on January 1, 2017.

Instructions

(a) Prepare the journal entry to record the retirement of the bonds at maturity, assuming the bonds were issued at 100.

(b) Prepare the journal entry to record the retirement of the bonds before maturity at 98. Assume the carrying value of the bonds was $805,000.

Ans: N/A, LO: 6, Bloom: AP, Difficulty: Medium, Min: 9, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 276
(9–12 min.)

Retirement of bonds at maturity

(a)
Bonds Payable

800,000



Cash


800,000

Retirement of bonds before maturity at 98

(b)
Bonds Payable

805,000


Cash


784,000


Gain on Bond Redemption


21,000

Ex. 277
Wood Company retired $750,000 face value, 9% bonds on June 30, 2017 at 98. The carrying value of the bonds at the redemption date was $760,000.

Instructions

Prepare the journal entry to record the redemption of the bonds.

Ans: N/A, LO: 6, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 277
(5–7 min.)

Bonds Payable

760,000


Gain on Bond Redemption


25,000


Cash ($750,000 × 98%)


735,000

Ex. 278
Presented below are two independent situations:

(a)
Howell Corporation purchased $700,000 of its bonds on June 30, 2017, at 102 and immediately retired them. The carrying value of the bonds on the retirement date was $679,000. The bonds pay annual interest and the interest payment due on June 30, 2017, has been made and recorded.

(b)
Justice, Inc. purchased $400,000 of its bonds at 97 on June 30, 2017, and immediately retired them. The carrying value of the bonds on the retirement date was $393,000. The bonds pay annual interest and the interest payment due on June 30, 2017, has been made and recorded.

Instructions
For each of the independent situations, prepare the journal entry to record the retirement of the bonds.

Ans: N/A, LO: 6, Bloom: AN, Difficulty: Medium, Min: 10, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 278
(13–16 min.)

(a)
June
30
Bonds Payable

679,000



Loss on Bond Redemption

35,000




Cash


714,000






($700,000 × 102% = $714,000)

(b)
June
30
Bonds Payable

393,000





Gain on Bond Redemption


5,000





Cash


388,000






($400,000 × 97% = $388,000)

Ex. 279
Riley Company issued a $4,000,000, 10%, 10-year mortgage note payable to finance the construction of a building at December 31, 2017. The terms provide for annual installment payments of $650,981.

Instructions

Prepare the entry to record:

(a)
the mortgage loan on December 31, 2017.

(b)
the first installment payment.

Ans: N/A, LO: 7, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 279
(5–7 min.)

(a)
Cash

4,000,000



Mortgage Payable


4,000,000

(b)
Interest Expense ($4,000,000 × 10%)

400,000


Mortgage Payable

250,981


Cash


650,981
Ex. 280
Downey Corporation issues a ₤4,000,000, 5%, 20-year mortgage note payable on December 31, 2017, to obtain needed financing for the construction of a building addition. The terms provide for annual installment payments of ₤320,970 on December 31.

Instructions
(a)
Prepare the journal entries to record the mortgage loan on December 31, 2017, and the first installment payment.

(b)
Will the amount of principal reduction in the second installment payment be more or less than with the first installment payment?

Ans: N/A, LO: 7, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 280
(5–8 min.)

(a)
Dec.
31
Cash

4,000,000





Mortgage Payable


4,000,000


June
30
Interest Expense

200,000




Mortgage Payable

120,970




Cash


320,970





(₤4,000,000 × 5% × 1/2 = ₤200,000)

(b)
The amount of principal reduction will increase with each installment payment.

Ex. 281
Mert Company borrowed $1,500,000 on December 31, 2016, by issuing $1,500,000, 8% mortgage note payable. The terms call for semiannual installment payments of $210,000 on December 31.

Instructions
(a)
Prepare the journal entries to record the mortgage loan and the first two installment payments.

(b)
Indicate the amount of mortgage note payable to be reported as a current liability and as a non-current liability at December 31, 2018.

Ans: N/A, LO: 7, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

Solution 281
(5–8 min.)

December 31, 2016
(a)
Cash


1,500,000


Mortgage Payable


1,500,000

December 31, 2017

Interest Expense


($1,500,000 × 8%)

120,000


Mortgage Payable


90,000





Cash


210,000

Solution 281
(cont.)

December 31, 2018

Interest Expense


($1,460,000 × 8%)

112,800

Mortgage Payable


97,200




Cash


210,000

(b)
Current : $104,976

[$210,000 – ($1,312,800 × 8%)]


Non-current: $1,207,824 [($1,500,000 – $90,000 – $97,200) – $104,976]

Ex. 282
The adjusted trial balance for Payne Corporation at the end of the current year contained the following accounts:


Bonds payable, 10%

$610,000


Interest payable

20,000


Lease liability

60,000


Mortgage payable, 9%, due 2018

80,000


Accounts payable

120,000

Instructions
(a)
Prepare the non-current liabilities section of the statement of financial position.

(b)
Indicate the proper statement of financial position classification for the accounts listed above that do not belong in the non-current liabilities section.

Ans: N/A, LO: 8, Bloom: AP, Difficulty: Medium, Min: 4, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 282
(4–7 min.)

(a)
Non-current liabilities



Bonds payable 10%

$610,000



Mortgage payable 9%

80,000



Lease liability

    60,000



Total non-current liabilities

$750,000
(b)
Interest payable and accounts payable should be classified as current liabilities.

Ex. 283
Stover Corporation reports the following amounts in their 2017 financial statements:



At December 31, 2017
For the Year 2017

Total assets
$2,000,000


Total liabilities
  1,100,000


Total equity
           ?


Interest expense
$20,000


Income tax expense
100,000


Net income
150,000

Instructions
(a)
Compute the December 31, 2017, amount of equity.
(b)
Compute the debt to assets ratio at December 31, 2017.

(c)
Compute times interest earned for 2017.

Ans: N/A, LO: 8, Bloom: AN, Difficulty: Hard, Min: 4, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 283
(4–7 min.)

(a)
Total assets

$2,000,000


Less : Total liabilities

  1,100,000

Total equity

$   900,000
(b)
Debt to assets ratio = 
[image: image1.wmf]Totalliabilities$1,100,000

==55%

Totalassets$2,000,000


(c)
Times interest earned = 
[image: image2.wmf]Netincome+Incometaxexpense+Interestexpen

se

Interestexpense




= 
[image: image3.wmf]$150,000+$100,000+$20,000

=13.5times

$20,000


a Ex. 284
Wenger Corporation is issuing €700,000 of 4%, 5-year bonds when potential bond investors want a return of 5%. Interest is payable annually. The present value of 1 factors are 4%, .82193 and 5%, .78353. The present value of an annuity factors are 4%, 4.45182 and 5%, 4.32948.

Instructions
Compute the market price (present value) of the bonds.

Ans: N/A, LO: 4, Bloom: AP, Difficulty: Medium, Min: 5, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Problem Solving, IMA: Reporting

Solution 284
(5–7 min.)

Present value of principal (€700,000 × .78353)
 
€548,471
Present value of interest (€28,000 × 4.32998)
 
  121,225
Market price of bonds

 €669,696
a Ex. 285
On December 31, 2016, Potter Corporation issued $2,000,000, 6%, 5-year bonds for $1,837,750. The bonds were sold to yield an effective-interest rate of 8%. Interest is paid annually on December 31. The company uses the effective-interest method of amortization.

Instructions
(a)
Prepare a bond discount amortization schedule which shows the amortization of discount for the first two interest payment dates. (Round to the nearest dollar.)

(b)
Prepare the journal entries that Potter Corporation would make on December 31, 2016, and December 31, 2017, and December 31, 2018 related to the bond issue.

Ans: N/A, LO: 9, Bloom: AN, Difficulty: Hard, Min: 15, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a Solution 285
(15–22 min.)

(a)
POTTER CORPORATION

Bond Discount Amortization

Effective-Interest Method—annual Interest Payments

6% Bonds Issued at 8%

  Interest
Interest to
Interest
Discount
 Unamortized
Carrying Value

  Periods 
  be Paid    
Expense
Amortization
  Discount
    of Bonds



12/31/16
(Issue date)


$162,250
$1,837,750

12/31/17
$120,000
$147,020
27,020
135,230
1,864,770

12/31/18
120,000
149,182
29,182
106,048
1,893,952
(b)
December 31, 2016

Cash

1,837,750


Bonds Payable


1,837,750



(To record issuance of bonds at a discount)


December 31, 2017

Interest Expense

147,020


Bonds Payable


27,020


Cash


120,000




(To record payment of interest and amortization of 




discount)


December 31, 2018

Interest Expense

149,182


Bonds Payable


29,182


Cash


120,000




(To record payment of interest and amortization of 




discount)

a Ex. 286
On December 31, 2017, Wayne, Inc. sold $4,000,000 (face value) of bonds. The bonds are dated December 30, 2017, pay interest annually on December 31, and will mature on December 31, 2020. The following schedule was prepared by the accountant for 2018.

     Annual
Interest to
Interest
       Bond

Interest Period
  be Paid 
Expense
Amortization
Carrying Value





           $3,900,000


1
$320,000
$351,000
$31,000
             3,931,000
Instructions
On the basis of the above information, answer the following questions. (Round your answer to the nearest dollar or percent.)

1.
What is the stated interest rate for this bond issue?

2.
What is the market interest rate for this bond issue?

3.
What was the selling price of the bonds as a percentage of the face value?

4.
Prepare the journal entry to record the sale of the bond issue on December 31, 2017.

5.
Prepare the journal entry to record the payment of interest and amortization on December 31, 2018.

Ans: N/A, LO: 11, Bloom: AN, Difficulty: Medium, Min: 12, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a Solution 286
(12–17 min.)

1.
$320,000 ÷ $4,000,000 = 8%

2.
$351,000÷ $3,900,000 = 9%

3.
$3,900,000 ÷ $4,000,000 = .975   The bonds sold at 97.5.

4.
December 31, 2017

Cash

3,900,000



Bonds Payable


3,900,000
5.




December 31, 2018

Interest Expense

351,000


Bonds Payable


31,000


Cash


320,000

a Ex. 287
On January 1, 2017, Morten Corporation issued $5,000,000, 9%, 5-year bonds dated January 1, 2017, at 96. The bonds pay annual interest on January 1. The company uses the straight-line method of amortization and has a calendar year end.

Instructions
Prepare all the journal entries that Morten Corporation would make related to this bond issue through January 1, 2018. Be sure to indicate the date on which the entries would be made.

Ans: N/A, LO: 10, Bloom: AN, Difficulty: Medium, Min: 8, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a Solution 287
(8–12 min.)

January 1, 2017

Cash($5,000,000 × 96%)

4,800,000



Bonds Payable


4,800,000




(To record sale of bonds at a discount)

December 31, 2017

Interest Expense

490,000



Bonds Payable ($200,000 ( 5)


40,000



Interest Payable ($5,000,00 × 9%)


450,000




(To record accrued interest and amortization of 




bond discount)

January 1, 2018

Interest Payable

450,000



Cash


450,000




(To record payment of interest)

a Ex. 288
Vance Company issued $1,000,000, 10%, 20-year bonds on January 1, 2014, at 107. Interest is payable annually on January 1. Vance uses the straight-line method of amortization and has a calendar year end.

Instructions
Prepare all journal entries made in 2017 related to the bond issue.

Ans: N/A, LO: 10, Bloom: AN, Difficulty: Medium, Min: 8, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA
a Solution 288
(8–12 min.)

Jan.
1
Cash ($1,000,000 × 104%)

1,040,000




Bonds Payable


1,040,000

Dec.
31
Interest Expense

98,000


Bonds Payable

2,000



Interest Payable


100,000





($1,000,000 × 10% = $100,000)




($40,000 × 1/20 = $2,000)
a Ex. 289
Jantz Company issued €750,000, 11%, 10-year bonds on December 31, 2016, for €690,000. Interest is payable annually on December 31. Jantz uses the straight-line method of amortization and has a calendar year end.

Instructions
Prepare the appropriate journal entries on

(a)
December 31, 2016.

(b)
December, 2017.

Ans: N/A, LO: 10, Bloom: AN, Difficulty: Medium, Min: 8, AACSB: Analytic, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Problem Solving, IMA: FSA

a Solution 289
(8–12 min.)

(a)
2016

Dec.
31
Cash

690,000





Bonds Payable


690,000

(b)
2017

Dec.
31
Interest Expense

88,500




Bonds Payable


6,000





Cash


82,500





(€750,000 × 11% = €82,500;






€60,000 × 1/10 = €6,000)
COMPLETION STATEMENTS


290.
A current liability is a debt that can be expected to be paid within ______________ year or the ______________, whichever is longer.

Ans: N/A, LO: 1, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


291.
Liabilities are classified on the statement of financial position as being _______________ liabilities or ______________ liabilities.

Ans: N/A, LO: 1, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


292.
Obligations in written form are called ______________ and usually require the borrower to pay interest.

Ans: N/A, LO: 2, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


293.
With an interest-bearing note, a borrower must pay the ________________ of the note plus _________________ at maturity.

Ans: N/A, LO: 2, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


294.
Sales taxes collected from customers are a ______________ of the business until they are remitted to the taxing agency.

Ans: N/A, LO: 3, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Business Economics


295.
Bonds that can be converted shares at the bondholders' option are ____________ bonds.
Ans: N/A, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


296.
The terms of a bond issue are set forth in a formal legal document called a bond ________________.

Ans: N/A, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


297.
Unsecured bonds that are issued against the general credit of the borrower are called ________________ bonds.

Ans: N/A, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


298.
If bonds were issued at a premium, then the contractual interest rate was _____________ than the market interest rate.

Ans: N/A, LO: 5, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics

299.
If bonds are issued at face value (par), it indicates that the ________________ interest rate must be equal to the ________________ interest rate.

Ans: N/A, LO: 5, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


300.
If a $1 million, 10%, 10-year bond issue was sold at 97, the cash proceeds from the issuance of the bonds amounted to $________________.

Ans: N/A, LO: 5, Bloom: AP, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA


301.
The ________________ of bonds is the face value of the bonds adjusted for bond discount or bond premium amortized up to the redemption date.
Ans: N/A, LO: 6, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA


 302.
The market price of a bond is obtained by discounting to its present value the _______________ paid at maturity, and all _____________ payments to be made over the term of the bond.

Ans: N/A, LO: 4, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: Business Economics


a 303.
When there is a ________________ difference between the straight-line and effective-interest methods of amortization, the ________________ method is required under GAAP.

Ans: N/A, LO: 9, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting


a304.
A method of amortizing bond discount or premium that allocates an equal amount each period is the ________________ method.

Ans: N/A, LO: 10, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA

a305.
The straight-line method of amortization allocates the same amount to _______________ in each interest period.

Ans: N/A, LO: 10, Bloom: K, Difficulty: Easy, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: None, IMA: FSA

Answers to Completion Statements

290.
one, operating cycle
298.
greater
291.
current, non-current
299.
stated (contractual), market (effective)
292.
notes payable
300.
970,000
293.
face value, interest 
301.
carrying value
294.
current liability
a 302.
principal, interest
295.
convertible
a303.
material, effective-interest
296.
indenture
a 304.
straight-line
297.
debenture
a 305.
interest expense
MATCHING

306.
Match the items below by entering the appropriate code letter in the space provided.


A.
Callable bonds
G.
Straight-line method of amortization


B.
Debenture bonds
H.
Bonds


C.
Bond indenture
I.
Debt to assets ratio


D.
Premium on bonds payable
J.
Current liability


E.
Discount on bonds payable
K.
Current ratio


F.
Effective-interest method of amortization
L.
Secured bonds

_____
1.
A debt that can reasonably be expected to be paid from current assets.

_____
2.
A legal document that sets forth the terms of a bond issue.

_____
3.
Bonds that are subject to redemption prior to maturity at the option of the issuer.

_____
a 4.
Produces a periodic interest expense equal to a constant percentage of the carrying value of the bonds.

_____
5.
Bonds that have specific assets of the issue pledged as Collateral.

_____
6.
A form of interest-bearing notes payable used by corporations.

_____
7.
Occurs when the contractual interest rate is greater than the market interest rate.

_____
8.
Unsecured bonds issued against the general credit of the borrower.

_____
9.
A measure of a company's liquidity.

_____
10.
A solvency measure that indicates the percentage of assets provided by creditors.

_____
11.
Occurs when the contractual interest rate is less than the market interest rate.

_____
a 12.
Produces a periodic interest expense that is the same amount each interest period.

Ans: N/A, LO: 4, 5, Bloom: K, Difficulty: Easy, Min: 8, AACSB: None, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

Answers to Matching


1.
J
7.
D


2.
C
8.
B


3.
A
9.
K


a 4.
F
10.
I


5.
L
11.
E


6.
H
a 12.
G

SHORT-ANSWER ESSAY QUESTIONS

S-A E  307
Bonds are frequently issued at amounts greater or less than face value. Describe how the market interest rate, relative to the contractual interest rate, affects the selling price of bonds. Also explain the rationale for requiring an investor to pay accrued interest when a bond is purchased between interest payment dates.

Ans: N/A, LO: 5, Bloom: K, Difficulty: Medium, Min: 5, AACSB: Communication, AICPA BB: Legal/Regulatory, AICPA FN: Reporting, AICPA PC: Communications, IMA: Reporting

Solution 307
The market interest rate often is different from the contractual interest rate and therefore bonds are frequently issued at amounts greater or less than face value. When the market interest rate is higher than the contractual rate, investors can find better investments elsewhere and consequently there is less demand for the bonds. So to make the bonds more attractive the issue price will be lowered and the bonds will be issued at a discount. Conversely, if the market interest rate is less than the contractual rate there will be greater demand for the bonds because of the higher interest rate. Thus, the issue price will be greater than face value and the bonds will be issued at a premium.

The investor is required to pay accrued interest because it allows the bond issuer to make the same interest payment to all bondholders on the same interest payment date. Otherwise the bond issuer would have to determine the interest payment for each bondholder based on how long that particular bond had been outstanding. Thus, the bond issuer does not have to maintain detailed records and saves bookkeeping costs.

S-A E  308
When a bond sells at a discount, what is probably true about the market interest rate versus the stated interest rate?  Discuss.

Ans: N/A, LO: 5, Bloom: K, Difficulty: Medium, Min: 5, AACSB: Communication, AICPA BB: Legal/Regulatory, AICPA FN: Measurement, AICPA PC: Communications, IMA: Business Economics

Solution 308
For someone to purchase a bond at a discount, the stated interest rate normally must be below the market interest rate for similar bonds. Investors will need to make up the difference by paying less than the face value for the bonds.

S-A E 309
Bonds may be redeemed (retired) before maturity by the issuing corporation. Explain why a company would decide to retire bonds before maturity and the necessary steps to record the redemption.

Ans: N/A, LO: 6, Bloom: K, Difficulty: Medium, Min: 5, AACSB: Communication, AICPA BB: Legal/Regulatory, AICPA FN: Decision Modeling, AICPA PC: Communications, IMA: Business Economics

Solution 309
A company may decide to retire bonds before maturity to reduce interest cost and remove debt from its statement of financial position. A company will retire debt early only if it has sufficient cash resources.

When bonds are retired before maturity, it is necessary to eliminate the carrying value of the bonds at the redemption date and recognize a gain or loss on redemption. The gain or loss is the difference between the cash paid and the carrying value of the bonds.

S-A E 310
Kim Estes and Jeff Malone are discussing how the market price of a bond is determined. Kim believes that the market price of a bond is solely a function of the amount of the principal payment at the end of the term of a bond. Is she right? Discuss.

Ans: N/A, LO: 4, Bloom: K, Difficulty: Medium, Min: 5, AACSB: Communication, AICPA BB: Legal/Regulatory, AICPA FN: Research, AICPA PC: Communications, IMA: Business Economics

Solution 310
No, Kim is not right. The market price of any bond is a function of three factors: (1) The dollar amounts to be received by the investor (interest and principal), (2) The length of time until the amounts are received (interest payment dates and maturity date), and (3) The market interest rate.

aS-A E 311
Megan Stone is discussing the advantages of the effective-interest method of bond amortization with her accounting staff. What do you think Megan is saying?

Ans: N/A, LO: 9, Bloom: K, Difficulty: Medium, Min: 5, AACSB: Communication, AICPA BB: Legal/Regulatory, AICPA FN: Decision Modeling, AICPA PC: Communications, IMA: Business Economics

Solution 311
Megan is probably indicating that since the borrower has the use of the bond proceeds over the term of the bonds, the borrowing rate in each period should be the same. The effective-interest method results in a varying amount of interest expense but a constant rate of interest on the balance outstanding. Accordingly, it results in a better matching of expenses with revenues than the straight-line method.

S-A E  312
(Ethics)

Hannah Company maintains two separate accounts payable computer systems. One is known to all the users, and is used to process payments to vendors. Employees enter the vendor code, or the name and address of new vendors, the amount, the account, and so on. The other system is a secret one. It is used to cross-check the vendors against an approved vendor list. If a vendor is not listed as approved, the payment process is halted. Internal audit employees seek to verify the existence of a bona fide claim by the vendor. All inquiries are made at the top management level, and very discreetly. No one but top management, the internal audit staff, and the Board of Directors of the company is even aware of the second system.

Required:
Is it ethical for a company to have a secret system like the one described? Explain.

Ans: N/A, LO: 3, Bloom: K, Difficulty: Easy, Min: 5, AACSB: Ethics, AICPA BB: Industry/Sector Perspective, AICPA FN: Risk Management, AICPA PC: None, IMA: Internal Controls

Solution 312
Secret systems that seek to verify the integrity of the non-secret primary system are certainly ethical. In fact, nearly all fraud and theft detection systems are secret. It is only the misuse of these systems, such as to obtain unauthorized information, or to commit some other crime, that is unethical.

S-A E  313
(Communication)

Susan Kline works for Trend Press, a fairly large book publishing firm. Her best friend and rival, Lisa, works for Silver Books, a smaller publisher. Both companies issue $100,000 in bonds on July 1. Trend's bonds were issued at a discount, while Silver's were issued at a premium. Lisa sent Susan a fax the next day. She told Susan that it was obvious who the better publisher was—the market had shown its preference! She reminded Susan again of her recent increase in salary as further proof of the superiority of Silver Books.

Required:
Draft a short note for Susan to send to Lisa. Explain how such a result could occur.

Ans: N/A, LO: 5, Bloom: C, Difficulty: Medium, Min: 5, AACSB: Communication, AICPA BB: Industry/Sector, AICPA FN: Decision Modeling, AICPA PC: Communications, IMA: Business Economics

Solution 313
Many answers are possible. The format should be fairly informal, and the point that a discount or premium is not necessarily a judgment on the strength or weakness of a company should be addressed. A suggested note follows:


Lisa—

I can't believe that Silver can survive with people like you handling their money!  I also can't believe their lack of judgment in giving you a raise!  Just kidding!  Seriously, though, you can't prove that Trend is a bad company just by the bond price.

Our bonds were issued at a discount, not because of the market's evaluation of our company, but because we underestimated interest rates. Silver got a premium because it overestimated interest rates.  You'll have to find some other evidence to prove your company is better, (which you can't, because it isn't).

Seriously (again), congratulations on your raise.  Shall we still meet for lunch on Wednesday?  How about trying our luck with chopsticks at the Chinese Panda?  Let me know if your plans change.

(signed)

GAAP QUESTIONS

1.
Which of the following is false?

a.
Under GAAP, a liability is only recognized if it is a present obligation.

b.
Under GAAP, current liabilities are shown in order of magnitude.

c.
Under GAAP, an item is a current liability if it will be paid within the next 12 months or the 
operating cycle, whichever is longer.

d.
Under GAAP, current liabilities are presented before non-current liabilities.
Ans: B, LO: 12, Bloom: K, Difficulty: Medium, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

2.
The accounting for bonds payable is

a.
not covered by IFRS.

b.
the same except that market price may be different because the present value calculations are different between IFRS and GAAP.

c.
different in that GAAP requires use of the straight-line method for amortization of bond premium and discount.

d.
essentially the same under IFRS and GAAP.
Ans: D, LO: 12, Bloom: K, Difficulty: Medium, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

3.
Which of the following is true regarding accounting for amortization of bond discount and premium?

a.
GAAP is required to use the straight-line method.

b.
IFRS is required to use the effective-interest method.

c.
GAAP must use the effective-interest method, but IFRS may use either the effective-interest method or the straight-line method.

d.
Both IFRS and GAAP must use the effective-interest method.
Ans: B, LO: 12, Bloom: K, Difficulty: Medium, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting

4.
The joint projects of the FASB and IASB could potentially

a.
change the definition of assets.

b.
change the definition of liabilities.

c.
change the definition of equity.

d.
All of these answer choices are correct.
Ans: D, LO: 12, Bloom: K, Difficulty: Medium, Min: 1, AACSB: None, AICPA BB: Legal/Regulatory Perspective, AICPA FN: Reporting, AICPA PC: None, IMA: Reporting
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